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Question Number : 1 Question Id : 2752283614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Mcguffay
2. Mcguffin
3. Mccauley
4. Mccarthy
5. Mcmaster

Options :

1. % 43152
2. % 43125
3. % 42315
4. % 42351



Question Number : 1 Question Id : 2752283614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xeal P! AsqHIT | 3 AT HH & TR ford |

1. Mcguffay
2. Mcguffin
3. Mccauley
4. Mccarthy
5. Mcmaster

Options :

1. % 43152
2.9 43125
3. % 42315
4, % 42351

Question Number : 2 Question Id : 2752283615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

MORY, SWYH, YEFQ, ENMZ, KUTI
Options :

1. % KUTI

2. % YEFQ

3. % SWYH

4. ¥ ENMZ

Question Number : 2 Question Id : 2752283615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3hH fea T 5, ford ¥ U UG T ¢ | 3T T faswed! & 9 39 7ad ug &1 gfu|

MORY, SWYH, YEFQ, ENMZ, KUTI
Options :



1. ¥ KUTI

2. % YEFQ
3. % SWYH
4. v ENMZ

Question Number : 3 Question Id : 2752283616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ RUX

2. % ADG

3. ¥ EHK

4. % ORV

Question Number : 3 Question Id : 2752283616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad vy & fou e fawedt & 9 fawm sier/siert & gl
Options :

1. # RUX

2. % ADG

3. # EHK

4. % ORV

Question Number : 4 Question Id : 2752283617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

AP:YN:RB:?
Options :
1. % QZ



2. ¥ pY
3.¥ PZ
4. % QY

Question Number : 4 Question Id : 2752283617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiRaa uy & fau 7o fawed! & @ Haifda sari &1 gl

AP:YN:RB:?
Options :
1. % QZ
2. % PY
3.¥' PZ
4. % QY

Question Number : 5 Question Id : 2752283618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

MONT : KEFD :: ?

Options :

1. ¥ GRAN : FRIX
2. % LPXD : UNGC
3. # NGTR : IKXF
4. % ACDL : CUTR

Question Number : 5 Question Id : 2752283618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fou e fawed! & O d6fia sieR g &1 gfu|

MONT : KEFD :: ?



Options :

1. ¥ GRAN : FRIX
2. % LPXD : UNGC
3. # NGTR : IKXF
4. % ACDL : CUTR

Question Number : 6 Question Id : 2752283619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, “‘WALTON” is written as ‘23112201514°, ‘INFANY" is written as ‘914611325°. What is the code for ‘LAGGER’ in that
code language?

Options :

1. % 12178721
2. % 12177519
3.9 12177518
4. % 12177719

Question Number : 6 Question Id : 2752283619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIRT B8 U H, ‘WALTON® B 23112201514 ToRaT SITAT 8, INFANY’ Y 914611325 foRaT ST 81 39 IS HWT H ‘LAGGER® T HIS
T 82

Options :

1. % 12178721

2. % 12177519

3. ¢ 12177518

4. % 12177719

Question Number : 7 Question Id : 2752283620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five persons M1, M2, M3, M4 and M5 are wearing five different coloured shirts T1, T2, T3, T4 and T5 (not necessarily in the same order). T1 and T2

coloured shirt are not worn by M3 and M5. M2 is wearing T3 coloured shirt. M1 is not wearing T2 and TS5 coloured shirts. T4 coloured shirt is not
worn by M3 and M4. Which of the following combination of person — shirt is correct?



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.M4 -T5

2.M5-T4

3.M1 -T2

4. M2 -T3

Question Number : 7 Question Id : 2752283620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui afad M1, M2, M3, M4 adT M5 fafis S &6 8IS T1, T2, T3, T4 TUT TS5 (SRS 8] Bt 341 HH H 8Y) Ug-d 8| T1 TUT T2 Tt HHIS M3
TUT M5 GRT T8l Ug MU § | M2 3 T3 T P HHIS UG &1 M1 3 T2 9UT T5 T 1 HHIST Tal g1 g | T4 T Pt HHIS M3 TUT M4 GRT T8 gl
T g | fdd-pHIS &1 fHafeiad 7 @ o1 91 9aieH I8! 82

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1.M4-T5
2.M5-T4
3.M1 -T2
4. M2 -T3

Question Number : 8 Question Id : 2752283621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of six bikes B1, B2, B3, B4, B5 and B6 are compared. Speed of B6 is more than only three bikes. No two bikes have same speed. Speed of B4 is
more than B2 but less than B6. Speed of B3 is not less than B5. Speed of B2 is not least. If speed of BS is not less than B2, then which of the following
pair of bikes have more speed than B4?

Options :
1. ¥ B5, B3
2. % B1,B5



3. % B2,B3
4. % B6, Bl

Question Number : 8 Question Id : 2752283621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

B d15! B1, B2, B3, B4, B5 IUT B6 1 71 &1 a1 &1 T § | B6 1 71T Had oI dTsch! F 31 81 Pis it €1 STseh! ot 71fd IHH 81 81 B4
®1 71 B2 ¥ 31 8 Wb B6 W HH B 1 B3 B 1A BS W HH 81 81 B2 B 10 gAdH a1 31 afg Bs 1 71fd B2 A HH a1 &, Ot Fafafaa 4 @
TSB! & B I B 1A B4 F 346 82

Options :

1. ¥ B5, B3

2. % B1,B5

3. % B2,B3

4. % Bo, Bl

Question Number : 9 Question Id : 2752283622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons I, J, K, L, M, N, P and Q are sitting around a circular table facing towards the centre (not necessarily in the same order). J is second to the
right of L. L is third to the right of N. K is second to the left of I. I is second to the left of N. P is third to the right of M.

Which of the following statement(s) is/are correct?
I. N is second to the left of L.

II. N is fourth to the right of K.

III. K is the immediate neighbour of L.

IV. Q is to the immediate left of L.

Options :

1. % L II, Il and IV
2. % [Iand IV
3.9 Il and 111

4. % Only I

Question Number : 9 Question Id : 2752283622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



AMEAGIL J, K, L, M, N, P IUT Q H& DI 3R TG HP U JAIHR Sl b 3¢-111G 96 §U & (SR -Tg] b1 s4T pA A 8| J, L b il 3R g2
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LN, L% I 3R g M W g

IL N, K & il 3R T ”IM R g |

1L K, L &1 pead usiat g |

IV. Q, L & R a1t 3R g

Options :

1. % L I aUT IV

2. ® AUV

3. I dUT 1T

4. % HAd 11

Question Number : 10 Question Id : 2752283623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements to be
true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically
follows the given statements.

Statements:
I. Some P are R.
II. NoL is R.

Conclusions:
I. All P are L.
II. Some P are not L.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 2752283623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 feu T Uy & $8 U 3R TP 918 I HUHl R ARG $& F50Y 3T MU § | 3T T = &1 981 9, 918 S8 Qg J1d 9 9
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Options :

1. % pacl Y | STIRTT HRaT 8

2. ¢ Had By 11 3TERUI BT &

3. % G (ISR Y [ T 11 3FJaR0T 6’ &
4. % B3 ot FTsHS SRV T8I HrT §

Question Number : 11 Question Id : 2752283624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements to be
true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically
follows the given statements.

Statements:
I. All pink are red.
II. No paper is red.

Conclusions:

I. No red is paper.

II. No pink is paper.

II1. Some red are pink.

Options :

1. # Both conclusions II and I1I follows
2. % Both conclusions I and II follows

3. % Both conclusions I and 111 follows



4. % All conclusion follows

Question Number : 11 Question Id : 2752283624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fou T Uy H $8 U 3R ITF 918 I HYAl R AYIRG $& F5pY 3T MU § | 3T T = &1 981 9, 918 S8 Qg 1 9 9
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Options :

1. % QI FShY 11 T 111 3IIRR0 Rd §
2. % QI FTSHY 1 T 11 38R0 HRdl §

3. % QA1 fsm s 1 T 111 SFERT R §
4.« 9} Frh s SFRIRUT Rl §

Question Number : 12 Question Id : 2752283625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

39:156::?
Options :

1. # 63:246
2.9 61:244
3. % 65:248
4. % 67 :250



Question Number : 12 Question Id : 2752283625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRaa uy @ fau 7 fawedl & @ Haifta I o1 gu|
39:156::?

Options :

1. % 63:246

2.¥61:244

3. % 65:248

4. % 67 :250

Question Number : 13 Question Id : 2752283626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
By Interchanging the given two numbers which of the following equation will be incorrect?

8 and 3

Options :

1.% 9x5+8+3-4=19
2.%3x6+4+8-5=10
3.3 999x5+3+8-6=17
4, % 3x5+2+4-8=21

Question Number : 13 Question Id : 2752283626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw U &) Tl B Uy H IRER deoq IR FEfifad § T o a1 gHiwRor 98t 7t g

8 YT 3

Options :
1.%#9x5+8+3-4=19
2.%3x6+4+8-5=10
3.3 99x5+3+8-6=17



4, % 3x5+2+4-8=21

Question Number : 14 Question Id : 2752283627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many red are only book?

Red | Tyre

5 |14
148 6 |3

/

Book 3

Options :
1. % 8
2.9 11
3. % 17
4. %3

Question Number : 14 Question Id : 2752283627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fh e 1d Had Jxdd g2
ZIG] =
5 |4
14|8] 6 |3
JEd4 3




Options :
1. %8
2.9 11
3.% 17
4. % 3

Question Number : 15 Question Id : 2752283628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

7
Wood Table

I. Number of wood which are table and chair both are 4.
II. Number of chair which are not wood, are 9.

Options :

1. * Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 15 Question Id : 2752283628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T 3 3T ¥ 3MUR R, FAfiad # 19 91/ Sy T8t 8/87



1. 98 APS! ol B AT ST Gl 5, Bt GBM4 5|
1. 98 S o dbg! T8l 6, B IS 9 B
Options :

1. % Had

2. % Had I

3. ¢ 13U gAY

4. % QAT

Question Number : 16 Question Id : 2752283629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

If South-west becomes north and East becomes South-west, then what will North-west become?
Options :

1. # South

2. ¥ East

3. # North-east

4. % South-east

Question Number : 16 Question Id : 2752283629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

g GR0T-UfEH, IR 81 Sl § a1 Ud, ST&rr-ufsd g} oifdT &, df SuR-ufsy o1 g1 Siawm?

Options :
1. % Sfgor

2.4 7Jd



3. % IW-Jd
4. % gfaorgd

Question Number : 17 Question Id : 2752283630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Umesh walks 12 km in north direction. He turns right and walks 36 km. He rotates by 192 degrees in anticlockwise direction. He again rotates by 340
degrees in anticlockwise direction. He finally rotates by 492 degrees in clockwise direction. In which direction is he facing now?

Options :

1. # South-east
2. % North-east
3. % South-west
4. % North-west

Question Number : 17 Question Id : 2752283630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IR fe=n # 12 T . Iaa1 51 98 <rif 3R g3 § 94T 36 .7, Idar g | 98 amrad fe=n # 192 f&i ¥ gHa1 81 98 G: amrad fo=m |
340 f&3it @ gHaT B 1 98 3fad: aférmed fawm o 402 f&3h @ guar 1 3@ 98 frw fomm Y eik S @1 82

Options :

1. % Gfaror-gd
2. IW-Jd

3. % cfgorafym
4, % JTR-UEH

Question Number : 18 Question Id : 2752283631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

+ .| [F+

) M+

Options :




1. % &b
# 4+ +
) # ¥+
# ++
3 % X +4
#++
4 % * + +

Question Number : 18 Question Id : 2752283631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

aferRad uy o fau 7 fasedl © O Uy faeg (2) & RIM WR 311 dTelt 3HTHhfd &1 AT

iR ESIE
Options :

# 4+ %
R

# 4+ +
p o EET



3 % x %+
# ¥+
gox EES

Question Number : 19 Question Id : 2752283632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

=

Options :




Question Number : 19 Question Id : 2752283632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TP GUUT BT AB IWT TR 34T ST, Tl & T8 STR ATH Il H F B AT MBI Uy Sepfa &1 Tg! ufafad ghfe
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Options :
g
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A
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2. %
g
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3. ® D
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(m’
I.

b
#



Question Number : 20 Question Id : 2752283633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical
Correct Marks : 1 Wrong Marks : 0.25

Pairs of opposite faces of a big cube are painted with red, yellow and blue colour. Now 3 equal cuts are made on each axis of this cube and some small
cubes are obtained. How many small cubes will have one face painted with yellow colour, one face painted with red or blue colour and all other faces

unpainted?
Options :
1. % 12
2.9 16
3.% 24
4. % 32

Question Number : 20 Question Id : 2752283633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I3 99 &} [quRId Baten! & Gl ! A, Uiet quT =icd T H TN 1§ | 3d 39 59 D1 TP 348 TR 3 SRIGR Herd O T § aUl $& BIc g
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?

Options :
1. % 12
2.9 16
3.% 24
4. % 32
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Question Number : 21 Question Id : 2752283634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kuchipudi belongs to which state of India?
Options :

1. ® Mabharashtra

2. % Chhattisgarh

3. ¥ Andhra Pradesh

4. % Jharkhand

Question Number : 21 Question Id : 2752283634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRITS YR & 5T Io0 | T 82

Options :

1. % HERIY



2. % BTG
3. ¢ Y U
4. % JRES

Question Number : 22 Question Id : 2752283635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of dance — part is correct?

I. Chhau — Southern India
II. Kathak — Eastern India

Options :

1. % OnlyI

2. % Only IT

3. % BothIand II
4. % Neither I nor IT

Question Number : 22 Question Id : 2752283635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - YT &1 FEffed § § & 91 g™ I8 82

1. B — &l YRd
1L HYP - Jdf YRd

Options :

1. % BHad I

2. % Had Il

3. % 13U gAY
4. TBIIATRI

Question Number : 23 Question Id : 2752283636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which image is on the back of 20 Rs. note of Mahatma Gandhi (New) series?



Options :

1. ¥ Ellora Caves
2. % Sanchi Stupa
3. # Rani ki Vav

4. #® Red Fort

Question Number : 23 Question Id : 2752283636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETET TTef SRa|r (A & 20 FUY & e & WS B 91 foF 72
Options :

1. ¢ TARI &1 B4

2. % il &qU

3. % Y B Al

4, % AT fopetm

Question Number : 24 Question Id : 2752283637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, Planning Commission was set up in year
Options :

1. # 1965

2. % 1960

3. % 1955

4. % 1950

Question Number : 24 Question Id : 2752283637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H, ST SR Iy Tt fasam T T
Options :

1. * 1965

2. % 1960



3. % 1955
4. % 1950

Question Number : 25 Question Id : 2752283638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of depositing a layer of zinc on iron is called
Options :

1. # rusting

2. % crystallisation

3. ¢ galvanisation

4. % deposition

Question Number : 25 Question Id : 2752283638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

M RNFPIRITCAGIUGH  Headi gl
Options :

1. % ST ST

2. % foheciioprum

3. ¢ Ted-TZoRH

4. % (389

Question Number : 26 Question Id : 2752283639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true?

I. Acid turns blue litmus red.
II. Bases turns red litmus blue.

Options :
1. # Only I
2. % Only II



3. % BothIand II
4. % Neither I nor II

Question Number : 26 Question Id : 2752283639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 1 198t 82
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11. &R T e Hy &bl al R ad &

Options :

1. % Had 1

2. % Had I

3. ¢ 13UT I gAY
4. % qIGIIATRII

Question Number : 27 Question Id : 2752283640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Isotopes — different mass number
II. Isobars — same mass number

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 27 Question Id : 2752283640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufefad o ¥ o g 98l 82



L. g - fUF Soad I=T
1. FHHTR® — FH SoH T T-AT
Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % I IAIEI

Question Number : 28 Question Id : 2752283641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which continent produces more than half of worlds tin?
Options :

1. ¥ Asia

2. % Europe

3. # North America

4. % South America

Question Number : 28 Question Id : 2752283641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 Agg a9 o7 3d § 31fies fe7 &1 ITe el 82
Options :

1. ¢ TRm

2. % RY

3. % JTR 3HRBT

4. % féror 3HfepT

Question Number : 29 Question Id : 2752283642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?



I. Stratosphere — extends upto 80 km
II. Mesosphere — extends upto 50 km

Options :

1. % OnlyI

2. % Only II

3. # BothIand II
4. % Neither I nor II

Question Number : 29 Question Id : 2752283642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 91 gm J81 82

1. FHATIHSH — 80 fob Hl. 1 SalTs dop Bell 8
1. HegHSd - 50 fob 7. 1 SHaTs db Ball g

Options :

1. % Had |

2. % Had I

3. % 13U gAY
4. AIRIIATRII

Question Number : 30 Question Id : 2752283643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of river - tributary is correct?

I. Tapi — Mabhi
II. Narmada — Wardha

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ¥ Neither I nor II



Question Number : 30 Question Id : 2752283643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - TGRS ¢l o1 Fufeiad § ¥ 19 91 gm 9g 82

1. drdt - A6t
IL. THaT - gl

Options :

1. % Bhad |

2. % Had I

3. % [ QYT
4. /A IAE

Question Number : 31 Question Id : 2752283644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Widow remarriage act was passed in the year
Options :

1. ¥ 1856

2. % 1860

3. % 1852

4, % 1848

Question Number : 31 Question Id : 2752283644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

faerar gHifdarg s 9 o T fopan T |
Options :

1. % 1856

2. % 1860

3. % 1852

4, % 1848



Question Number : 32 Question Id : 2752283645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the capital of Chalukyas.

Options :

1. # Vaishali

2. % Aihole

3. #* Patliputra

4. % Sarnath

Question Number : 32 Question Id : 2752283645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Bl IS AT

Options :

1. % qRTel!

2. ¢ U

3. % Orefeqd

4. % IRATY

Question Number : 33 Question Id : 2752283646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Spinning jenny was invented in 1764.
II. By 1900, over 84 cloth mills started operating in Mumbai.

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 33 Question Id : 2752283646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 o1 91/8 FuF 8l 8/a8?

1. foaf71 S @7 SfasRR 1764 W g3 7|

1L 1900 3Td-31Td, Ga's H 84 HUST it a1 81 gab! |
Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % @ IATE I

Question Number : 34 Question Id : 2752283647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company has bagged the contract for construction of Mumbai — Ahmedabad bullet train?
Options :

1. % Larsen and Toubro

2. % Tata Projects

3. ¥ GMR

4. % Hindustan Construction Company

Question Number : 34 Question Id : 2752283647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg BT B oS — SGATITG GoIc ¢ b (A0 BT ST e 82
Options :

1. ¢ AR TS el

2. % T YNNG

3. % SITHSR (GMR)

4. % TgE™ DhgHRH HU-!

Question Number : 35 Question Id : 2752283648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state has become the 5th state to complete Urban Local Bodies Reference in January 20217
Options :

1. # West Bengal

2. ¥ Rajasthan

3. % Punjab

4. % Tamil Nadu

Question Number : 35 Question Id : 2752283648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR 2021 T 1F 1 IS0 e RIMHTG T GUR T HA a1l 531 54 & 77 82
Options :

1. % UigE &

2. ¢ ISR

3. % U9d

4. % g

Question Number : 36 Question Id : 2752283649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been awarded with CERAWeek Global Energy and Environment Leadership award in March 2021?
Options :

1. % Jacinda Ardern

2. % Scott Morrison

3. #* Justin Trudeau

4. % Narendra Modi

Question Number : 36 Question Id : 2752283649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2021 H fd CERAWeek 7AW TSI U8 A3 C [ATSRIRIY QREGR a1 T 87



Options :

1. % SIf¥eT orsH
2. % Wi HIRTA
3. % SR TSl
4. ¥ T A

Question Number : 37 Question Id : 2752283650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of part — contents of Indian constitution is correct?

I. Part VI — The states
II. Part VIII — The union territories

Options :

1. % Only I

2. % Only I

3. Both I and II
4. % Neither I nor IT

Question Number : 37 Question Id : 2752283650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tf3e™ &1 YT - Sidfavg &1 fAgfoiad & &9 a1 gm Iet 82

1. HIT VI - Y
1. YT VIII — 99 o987

Options :

1. % Had I
2. % Had II
3. ¢ 13U gAY
4. % qEIIATR

Question Number : 38 Question Id : 2752283651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with control over subordinate courts?
Options :

1. % 217

2.9 235

3. % 251

4. % 279

Question Number : 38 Question Id : 2752283651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT AU &7 D AT 3ffwse ey el W a0 § Jaifed g2
Options :

1. % 217

2.9 235

3. % 251

4. % 279

Question Number : 39 Question Id : 2752283652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pankaj Advani is associated with which sport?
Options :

1. % Snooker

2. * Cricket

3. * Boxing

4. % Table Tennis

Question Number : 39 Question Id : 2752283652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 3TSar! fPg Td T Yafdd g2

Options :



1. ¢ IR

2. % fohdhe
3. % SIRITT
4, % gAY

Question Number : 40 Question Id : 2752283653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of tournament — sport is correct?

I. Vijay Hazare Trophy — Cricket
II. Irani Trophy — Cricket

Options :

1. # OnlyI

2. % Only I

3. Both I and II
4. % Neither I nor IT

Question Number : 40 Question Id : 2752283653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢t — wd &1 Fafefad 3 9 o 91 3w J81 6

1. ST §SIR ¢t - febdbe
IL. X St - fobdbe
Options :

1. % $Had I

2. % Had II

3. ¢ 1 QYT I &Y

4. % AIGIIATRI

Arithmetic Ability



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 2752283654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation

: Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 18 —3 x 4 + 27

Options :
1. % 6
2.9 8
3. % 12
4. % 14

3
275228111

Arithmetic Ability

275228201
1

Online
Mandatory
20

20

20

Yes

1
275228239
Yes



Question Number : 41 Question Id : 2752283654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
18-3 x4+ 2 BIAF I G?

Options :

1. % 6

2.¥°8

3. % 12

4. % 14

Question Number : 42 Question Id : 2752283655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (2.5)3 — (1.5)> =3 x 2.5 x 1.5?
Options :

1. % 0.5

2.9 ]

3.% 1.5

4, % 2

Question Number : 42 Question Id : 2752283655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
(2.5)3 — (1.5 =3 x 2.5 x 1.5 BT A HT 82
Options :

1. % 0.5

2.9 ]

3.% 1.5

4, % 2

Question Number : 43 Question Id : 2752283656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following fraction is the largest?
Options :

25
1 % 31

13

70
3.¢ 79

Question Number : 43 Question Id : 2752283656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferaa 7 @ o a1 fie ged 9s1 82

Options :
25
1. % 31

I3
) % 19

70
3.¢ 79



Question Number : 44 Question Id : 2752283657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ,] 4 o3 =1+ i, then what is the value of A?
676 26

Options :
1.1

2. % 13
3.% 53
4, % 27

Question Number : 44 Question Id : 2752283657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 433 _1. A da aF AW F R
676 26

Options :

1.9 1

2. %13

3. % 53

4. % 27

Question Number : 45 Question Id : 2752283658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of two numbers is 150 and their difference is 48. What is the product of the two numbers?
Options :

1. ¥ 5049

2. % 5089

3. % 5149



4. % 5189

Question Number : 45 Question Id : 2752283658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =TSl T AN 150 § TUT ST 3R 48 § | T GHATSH BT OHH T 62
Options :

1. % 5049

2. % 5089

3. % 5149

4. % 5189

Question Number : 46 Question Id : 2752283659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price and marked price of an article is in ratio 13 : 15. What is the discount percentage?
Options :

1. % 15

2. % 14.28

3.9 13.33

4. % 12.65

Question Number : 46 Question Id : 2752283659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I D1 faehd T T 3ifohd Hed 13 : 15 % U H 3| Y Ufa=rd w82
Options :

1. % 15

2. % 14.28

3.9 13.33

4. % 12.65

Question Number : 47 Question Id : 2752283660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P =150 and Q = 235, then Q is how much percent more than P?
Options :

1. ¥ 56.66

2. % 45.55

3. % 3333

4. % 62.22

Question Number : 47 Question Id : 2752283660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

g P =150 AUTQ =235, A Q, P I foran ufawra 31feres 82
Options :

1. ¥ 56.66

2. % 45.55

3. % 3333

4. % 62.22

Question Number : 48 Question Id : 2752283661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A’s salary is firstly increased by 25 percent and then again increased by 20 percent. What is the overall percentage increase in A’s salary?
Options :

1. % 45

2. % 55

3.¥50

4. % 35

Question Number : 48 Question Id : 2752283661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A I3 | Ugd 25 Tfard 31 i qu fomR O 20 UfaRid &1 9fS g5 81 A & 397 H 3 fhail ufawd Ifa 83 82



Options :
1. % 45
2. % 55
3.9 50
4. % 35

Question Number : 49 Question Id : 2752283662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person buys three spectacles at the rate of Rs 3000 per spectacle. He sells first spectacles at a profit of 40 percent, sells second spectacles at a loss of
20 percent and sells third spectacles at a loss of 20 percent. What is the total percentage of profit earned in the whole transaction?

Options :

1. % 20

2. % 16.66
3.0

4. % 12.5

Question Number : 49 Question Id : 2752283662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SAfad 3000 U Ul T=0 Bt aR o T=H Wiladl /| 98 U I=Y B 40 IR P oH TR SIaT 3, S8R T=H Bl 20 Ufa=rd 1 g1 R s
& YT IR I=H B 20 UFA=d B 1A R ad1 8 | W O - & H 1 foa Ui=Id &1 a1y HHIET 747 82

Options :

1. % 20

2. % 16.66

3.40

4. % 125

Question Number : 50 Question Id : 2752283663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three numbers A, B and C are in the ratio of 2 : 3 : 2 respectively. If C is 12 less than the sum of A and B, then what is the value of B?
Options :



1. %8
2.¥12
3.% 4
4. % 16

Question Number : 50 Question Id : 2752283663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF ISATT A, B TUT C BT SAUT HARE 2:3: 281 A C, ATATB H AN Y 12 HH ¢, Al B BT A HT 52
Options :

1. %8

2.9 12

3. % 4

4. % 16

Question Number : 51 Question Id : 2752283664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of ages of two students is 6 : 5. The difference between their ages is 6 years. What is the age of the younger student?
Options :

1. ¥ 30 years

2. % 36 years

3. ® 24 years

4. % 18 years

Question Number : 51 Question Id : 2752283664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

& faenffal &t S &1 SUTd 6 < 5 § 1 IDT 3T b ALl 6 T BT 3R § | HH 1Y a1 fyaelf o} oy g2
Options :

1. ¥ 309y

2. % 3694

3. % 2499



4. % 1894

Question Number : 52 Question Id : 2752283665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money becomes triple of itself in 8 years at simple interest. In how many years it will becomes five times of itself?
Options :

1. # 15 years

2. % 20 years

3. ¥ 16 years

4. % 12 years

Question Number : 52 Question Id : 2752283665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 U H T M AR AUR S TR W9 BT i A1 81 et g | foha aui & a8 Tad &1 Ui A1 81 S
Options :

1. % 1599

2. % 20qY

3.¢ 16TY

4.% 1299

Question Number : 53 Question Id : 2752283666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train moving with the speed of 40 km/hr crosses a platform in 15 minutes. If the length of the train and the platform is same, then what is the length
of the platform?

Options :

1. ¥ 5000 metres
2. % 6000 metres
3. % 4000 metres
4. % 8000 metres



Question Number : 53 Question Id : 2752283666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ.ﬂ;ﬁwﬁr@aﬁﬁwmw@mﬂﬁaﬁ15ﬁ%ﬁwm%lqﬁmawlﬁ€qﬁﬁaﬁmw%ﬁlﬁwﬁﬁaﬁ
182

Options :

1. ¢ 5000 Hicx

2. % 6000 Hicx

3. % 4000 Hlcx

4. % 8000 Hicx

Question Number : 54 Question Id : 2752283667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

95 trees are planted in a straight line such that distance between any two consecutive trees is same. A car starts from first tree and it takes 39 seconds to
reach the 27th tree. How much more time will it take to reach the last tree?

Options :

1. % 96 seconds
2. % 102 seconds
3. % 108 seconds
4. #® 124 seconds

Question Number : 54 Question Id : 2752283667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

95 J&il BI TP Hiefl Ui & 39 YR v T 8 foh i 2t & AN gafl & o Bt gl 9 5 | U HR U & o SRY Bicll § auT 27 4 3&
% Ugd B 98 39 UHUS Tt g | 3ifa &1 I Uga- & a8 foba- a9g oik anfy

Options :

1. % 96 YHUS

2. ¢ 102 AHUS

3. % 108 AHUS

4. % 124 qHUS



Question Number : 55 Question Id : 2752283668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do (1/10) part of a work in 3 days. B alone can do (1/8) part of same work in 6 days. In how many days together can they do (11/12) part of
the same work?

Options :

1. ® 165/13
2. % 275/13
3. % 330/13
4. % 220/13

Question Number : 55 Question Id : 2752283668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3B TH B BT (1/10) HRT 3 FRA A B IHA1 81 B 3Bl IUI BRI BT (1/8) U 6 fa & R Topanr g | ficer S sl &1 (11/12) 4T3
foram & o R T 82

Options :

1. % 165/13

2. % 275/13

3. % 330/13

4.9 220/13

Question Number : 56 Question Id : 2752283669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of an equilateral triangle is 8\'3 cm. What will be the area of equilateral triangle?
Options :

1. ¢ 643 cm?

2. % 64

3. % 483 cm?

4, % 72

Question Number : 56 Question Id : 2752283669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS JAUTE Y &1 Sars 83 AT, 81 THHTE Sl &1 &t 31 g2

Options :

1. ¥ 643 g 2
2. % 64

3. % 48\3 4.2
4. % 72

Question Number : 57 Question Id : 2752283670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of length and breadth of a cuboid is 75 cm. Length is more than breadth. Height is 30 cm and difference between height and length is 10 cm. What
will be the total surface area of cuboid?

Options :

1. % 7200 cm?
2. % 6800 cm?
3. % 6500 cm?
4. ¥ 7300 cm?

Question Number : 57 Question Id : 2752283670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS IATH &1 AFTS adT ASls o1 anT 75 T, 31 TS AT § Ui 81 S 30 T g JUT ASTS 3R THTs BT 3R 10 .. g1 T 1H BT
$d USI &A% R II?

Options :

1. % 7200 .92
2. % 6800 . HT.2
3. % 6500 .92
4. 7300 9.7} 2

Question Number : 58 Question Id : 2752283671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by a boy on purchasing of six different articles. The total amount spent on all these six articles is Rs.
54000. The amount spent on a particular article is shown in terms of degree with respect to the total amount spent on all these six articles.

Which of the following statement(s) is/are correct?

I. Amount spent on article A is less than the amount spent on article B by Rs. 900.

ITI. Amount spent on article C is more than the amount spent on article D by Rs. 2400.
II1. Ratio of amount spent on article B to the amount spent on article Eis 4 : 1.

Options :

1. ¥ Only I

2. % Only I

3. % Only III

4. % Both II and III

Question Number : 58 Question Id : 2752283671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e T T A1 U TS GRT B8 STHT-STHT I3 Bl WG WR T &) 718 AR B 2l 71 37 T §8 IRgei R T 1 TS e A
54000 YA B | Teb fIRAY o W T 1 77 i ) 37 ot B8 a3 W T 1 7S ot W F Yol A fEh & wu A exfar mar



fraffed § I &9 91/ Hu= 98 8/8?

LI A TR G B T3 M g B WR T BT T3 M 900 ¥9Y HH g

IL 9% C TR W 1 T3 IR 9% D W T B! T8 AR F 2400 U A g
111 %] B IR T &1 T3 M 1 a¥g E TR T P1 718 AR Y U 4 : 15
Options :

1. ¥ Had 1

2. % Had Il

3. % $Had 111

4. % 11TYT 1 g

Question Number : 59 Question Id : 2752283672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the income and expenditure (in rupees thousand) of five persons P1, P2, P3, P4 and P5. In the years 2020.

68
55
45 47 45
25 i
15 i 15
P1 P2 P3 P4 P5
Olncome MEExpenditure

Income — Expenditure X
Expenditure

% profit /loss= 100

]1 =Value of percent profit of all the five persons taken together
12 =Value of percent profit of P2
13 = Value of percent profit of P5

What is the value of [%Jx J37?

Options :
1. % 150
2.% 15
3. ¥ 300
4. % 201.5

Question Number : 59 Question Id : 2752283672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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68
55
45 47 45
25 o
15 i 15
P1 P2 P3 P4 P5
(] 3= @eag
. FE—-=7
boemd /B = ———x100
=7

11 = gaft ofg s oAt & gfaerd ot &1 AT
12 = P2 & fcerd o &1 A
13 = P5 o 9icerd o &1 3

il

LEJ 13 FIAT FATE?
J2

Options :

1. % 150

2. %15

3. ¥ 300

4. % 201.5

Question Number : 60 Question Id : 2752283673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the marked price and discount of six articles.



2000
7500
3500 4500
3800 4200
675 320 800
480 200 600
P Q R S T U
—e—Marked Price —= Discount
: discount
discount % = — x100
marked price

J1 = Value of average marked price per article.
J2 = Value of the sum of selling price of articles S and T.

What is the ratio of J1 and J2?
Options :

1. % 24:17

2. % 22:43

3.% 43:22

4.9 21:28

Question Number : 60 Question Id : 2752283673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 24:17

2.%22:43

3.% 43:22

4.9 21:28
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Question Number : 61 Question Id : 2752283674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Statistics are a (1)/ means to understand the (2)/ growth of the company. (3)/ No error (4)
Options :

1. % Statistics are a

2. * means to understand the

3. # growth of the company.

4. % No error

Question Number : 61 Question Id : 2752283674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Statistics are a (1)/ means to understand the (2)/ growth of the company. (3)/ No error (4)
Options :

1. ¥ Statistics are a

2. % means to understand the

3. # growth of the company.

4. * No error

Question Number : 62 Question Id : 2752283675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The law should mandate that every (1)/ pregnancy be registered and should receive (2)/ a most unique identity number. (3)/ No error (4)
Options :

1. % The law should mandate that every

2. % pregnancy be registered and should receive

3. ¥ a most unique identity number.

4. ¥ No error

Question Number : 62 Question Id : 2752283675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The law should mandate that every (1)/ pregnancy be registered and should receive (2)/ a most unique identity number. (3)/ No error (4)
Options :

1. # The law should mandate that every

2. % pregnancy be registered and should receive

3. ¥ a most unique identity number.

4. % No error

Question Number : 63 Question Id : 2752283676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No improvement.

If you can’t pay the bill, don’t spent.
Options :

1. ¥ spend

2. ® expense

3. ¥ waste

4. % No Improvement

Question Number : 63 Question Id : 2752283676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No improvement.

If you can’t pay the bill, don’t spent.
Options :

1. ¥ spend

2. % expense

3. # waste

4. % No Improvement

Question Number : 64 Question Id : 2752283677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No improvement.

His proud and ego was too much for the team to handle.
Options :

1. # past

2. % pride

3. #* happiness

4. % No Improvement



Question Number : 64 Question Id : 2752283677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No improvement.

His proud and ego was too much for the team to handle.
Options :

1. # past

2. % pride

3. # happiness

4. % No Improvement

Question Number : 65 Question Id : 2752283678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In the United States, drinking alcohol is largely by mainstream culture.
Options :

1. % snubbed

2. % obtained

3. ¥ embraced

4. % terminated

Question Number : 65 Question Id : 2752283678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In the United States, drinking alcohol is largely by mainstream culture.
Options :

1. # snubbed

2. % obtained

3. ¥ embraced

4. * terminated



Question Number : 66 Question Id : 2752283679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The boys sang the girls danced.
Options :

1. ¥ while

2. % unless

3. % to

4. #* whence

Question Number : 66 Question Id : 2752283679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The boys sang the girls danced.
Options :

1. ¥ while

2. % unless

3. % to

4. % whence

Question Number : 67 Question Id : 2752283680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical
Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

In 2016, the

P: World Health Organization (WHO) removed

Q: coffee from the list of possible carcinogens because
R: association between coffee consumption and cancer
S: multiple studies had debunked a possible causative

Options :



1. ¥ PQSR
2. ¥ RQSP
3. ¥ PQRS
4. % SQRP

Question Number : 67 Question Id : 2752283680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

In 2016, the

P: World Health Organization (WHO) removed

Q: coffee from the list of possible carcinogens because
R: association between coffee consumption and cancer
S: multiple studies had debunked a possible causative

Options :

1. ¥ PQSR
2. % RQSP
3. ¥ PQRS
4. % SQRP

Question Number : 68 Question Id : 2752283681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the conventional view has been that newspaper comic
Q: strips must not offend any conceivable readership or
R: strict conservative codes of morality and decorum

S: commercial-interest group and therefore must observe

Options :

1. # RQSP
2. % SRPQ
3. ¥ PQSR
4. % QSPR



Question Number : 68 Question Id : 2752283681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the conventional view has been that newspaper comic
Q: strips must not offend any conceivable readership or
R: strict conservative codes of morality and decorum

S: commercial-interest group and therefore must observe

Options :

1. ¥ RQSP
2. % SRPQ
3. ¥ PQSR
4. % QSPR

Question Number : 69 Question Id : 2752283682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Burst
Options :
1. % Tear
2. % Pop
3. % Apart

4. % Create

Question Number : 69 Question Id : 2752283682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Burst
Options :



1. # Tear
2. % Pop
3. # Apart
4. % Create

Question Number : 70 Question Id : 2752283683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appease
Options :

1. # Humor
2. % Incense
3. # Coax

4. ® Coerce

Question Number : 70 Question Id : 2752283683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appease
Options :

1. ®* Humor
2. % Incense
3. # Coax

4. ® Coerce

Question Number : 71 Question Id : 2752283684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Tecnecian
2. ®* Technecean
3. % Technician

4. ®* Tecnician

Question Number : 71 Question Id : 2752283684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Tecnecian

2. % Technecean

3. ¢ Technician

4. % Tecnician

Question Number : 72 Question Id : 2752283685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. % Reasoneble

2. % Anticipate

3. # Frequently

4. % Phenomenon

Question Number : 72 Question Id : 2752283685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. ¥ Reasoneble

2. % Anticipate

3. # Frequently



4. ¥ Phenomenon

Question Number : 73 Question Id : 2752283686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bull’s eye

Options :

1. # To attack an animal

2. % The centre of the target
3. # To lament over the past

4. * To be in love with

Question Number : 73 Question Id : 2752283686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bull’s eye

Options :

1. % To attack an animal

2. % The centre of the target
3. * To lament over the past

4. % To be in love with

Question Number : 74 Question Id : 2752283687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Under the knife
Options :
1. ¥ Under a surgical operation

2. % Under suspicion



3. % Ata wrong place

4. % In a bad company

Question Number : 74 Question Id : 2752283687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Under the knife

Options :

1. % Under a surgical operation
2. % Under suspicion

3. % Ata wrong place

4. % In a bad company

Question Number : 75 Question Id : 2752283688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

To renounce allegiance to one’s native country
Options :

1. % Repatriate

2. % Migrate

3. ¥ Expatriate

4. % Herbour

Question Number : 75 Question Id : 2752283688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

To renounce allegiance to one’s native country
Options :



1. # Repatriate
2. % Migrate
3. ¥ Expatriate
4. % Herbour

Sub-Section Number : 2
Sub-Section Id : 275228241
Question Shuffling Allowed : Yes

Question Id : 2752283689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Bipolar disorders of varying severity affect about 1 per cent of the general population and account for 10 to 15 per cent of readmissions to mental
institutions. Statistical studies have suggested a hereditary predisposition to bipolar disorder, and that predisposition has now been linked to a defect on
a dominant gene located on chromosome 11. In addition, bipolar disorder has been associated with polygenic factors, meaning that multiple, possibly
thousands, of small-effect genetic variants, can interact to give rise to the disease. Schizophrenia shares a similar polygenic component, suggesting that
the two disorders may have a common origin.

In a physiological sense, it is believed that bipolar disorder is associated with the faulty regulation of one or more naturally occurring amines at sites in
the brain where the transmission of nerve impulses takes place. Abnormal regulation that produces a deficiency of the amines appears to be associated
with depression, and an excess of amines is associated with mania. The most likely candidates for the suspect amines are norepinephrine, dopamine,
and serotonin (5-hydroxytryptamine).

Bipolar disorder requires long-term therapy. It is managed most effectively with a combination of medication, psychotherapy, and social support.
Patients who are hospitalized during a severe bout of depression or mania often are given medications in an attempt to balance mood. Medications that
may be used include lithium carbonate, antidepressants, anticonvulsants, and anxiolytics (anti-anxiety drugs). Once the patient’s mood has been
stabilized, a long-term treatment strategy can be devised. Certain medications, such as lithium or antidepressants, may be used on a long-term basis and
can help alleviate or even eliminate symptoms. Long-term pharmacological therapy often is supported by psychotherapy or group therapy. Shock
therapy is reserved for persons whose mania or depression remains severe despite other forms of treatment and for women who are pregnant and
therefore unable to take medications.

Sub questions

Question Number : 76 Question Id : 2752283690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. * Bipolar disorder Treatment

2. ¥ Bipolar disorder



3. # Long-term effects of Bipolar disorder

4. % Importance of Bipolar disorder

Question Number : 77 Question Id : 2752283691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, for whom the shock therapy is reserved?

I. For a person whose mania or depression remains severe despite other treatments.
II. For a pregnant women who are unable to take medication.

Options :

1. # OnlyI

2. % Only I

3. % Both I and II
4. # Neither I nor II

Question Number : 78 Question Id : 2752283692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word ‘faulty’?
Options :

1. % Imprecise

2. % Useless

3. # Distorted

4. % Colossal

Question Number : 79 Question Id : 2752283693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the medications given to a patient during a severe bout of depression?
Options :

1. * Antidepressants

2. % Anticonvulsants

3. ¥ Anxiolytics

4. ¥ Dopamine



Question Number : 80 Question Id : 2752283694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion can be drawn from the given passage?

Options :

1. ¥ The treatment of Bipolar disorder depends upon the severity of Patient’s condition.

2. % Bipolar disorder has all the therapy related treatments where less medication is required.

3. % Bipolar disorder requires a very short-term therapy and can be alleviated by using right medicine.

4. % The treatment of Bipolar disorder can be very painful sometimes that people refrain from it.

Question Id : 2752283689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Bipolar disorders of varying severity affect about 1 per cent of the general population and account for 10 to 15 per cent of readmissions to mental
institutions. Statistical studies have suggested a hereditary predisposition to bipolar disorder, and that predisposition has now been linked to a defect on
a dominant gene located on chromosome 11. In addition, bipolar disorder has been associated with polygenic factors, meaning that multiple, possibly
thousands, of small-effect genetic variants, can interact to give rise to the disease. Schizophrenia shares a similar polygenic component, suggesting that
the two disorders may have a common origin.

In a physiological sense, it is believed that bipolar disorder is associated with the faulty regulation of one or more naturally occurring amines at sites in
the brain where the transmission of nerve impulses takes place. Abnormal regulation that produces a deficiency of the amines appears to be associated
with depression, and an excess of amines is associated with mania. The most likely candidates for the suspect amines are norepinephrine, dopamine,
and serotonin (5-hydroxytryptamine).

Bipolar disorder requires long-term therapy. It is managed most effectively with a combination of medication, psychotherapy, and social support.
Patients who are hospitalized during a severe bout of depression or mania often are given medications in an attempt to balance mood. Medications that
may be used include lithium carbonate, antidepressants, anticonvulsants, and anxiolytics (anti-anxiety drugs). Once the patient’s mood has been
stabilized, a long-term treatment strategy can be devised. Certain medications, such as lithium or antidepressants, may be used on a long-term basis and
can help alleviate or even eliminate symptoms. Long-term pharmacological therapy often is supported by psychotherapy or group therapy. Shock
therapy is reserved for persons whose mania or depression remains severe despite other forms of treatment and for women who are pregnant and
therefore unable to take medications.

Sub questions

Question Number : 76 Question Id : 2752283690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?



Options :

1. # Bipolar disorder Treatment

2. % Bipolar disorder

3. # Long-term effects of Bipolar disorder

4. % Importance of Bipolar disorder

Question Number : 77 Question Id : 2752283691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, for whom the shock therapy is reserved?

I. For a person whose mania or depression remains severe despite other treatments.
II. For a pregnant women who are unable to take medication.

Options :

1. * Only I

2. % Only I

3. Both I and II
4. % Neither I nor IT

Question Number : 78 Question Id : 2752283692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word ‘faulty’?
Options :

1. % Imprecise

2. % Uscless

3. # Distorted

4. % Colossal

Question Number : 79 Question Id : 2752283693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the medications given to a patient during a severe bout of depression?
Options :

1. * Antidepressants



2. % Anticonvulsants
3. # Anxiolytics
4. ¥ Dopamine

Question Number : 80 Question Id : 2752283694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion can be drawn from the given passage?

Options :

1. % The treatment of Bipolar disorder depends upon the severity of Patient’s condition.

2. % Bipolar disorder has all the therapy related treatments where less medication is required.

3. # Bipolar disorder requires a very short-term therapy and can be alleviated by using right medicine.

4. % The treatment of Bipolar disorder can be very painful sometimes that people refrain from it.
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Number of Questions to be attempted : 16

Section Marks : 20
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Question Number : 81 Question Id : 2752283695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hifds
2. % Afde
3. % fAfde
4. ¢ Afd®s

Question Number : 81 Question Id : 2752283695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U wrec} @Y T J1d BT
Hfd+ 3P

Options :

1. % Hifds
2. % Afde
3. % fAfce
4. Afc®s

Question Number : 82 Question Id : 2752283696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HHAAS ARV

2. % gUGIATad ARVl
3. % 3fgfrardd favwor

4. % f3f¥q SEa® favwo

Question Number : 82 Question Id : 2752283696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa Tq are # fa=iwor 91d i
I fgda 9ot A urr gem g

Options :

1. ¢ HHAAS ARV

2. % JUGIATad ARVl
3. % 3[gfrardd favwur

4. % g SEaE® favwo

Question Number : 83 Question Id : 2752283697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 1T a1eRy # 37Ty 1 BT |

a1 P By sl
Options :

1. % fopgr-fa=yor
2. ¢ fowarieay®s
3. % Hdydiysh

4. % FHUSIYD



Question Number : 83 Question Id : 2752283697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 1T aTeRy # 37euy I HifoTT |

3R Ui g1 Srait
Options :

1. % fopar-fa=om
2. ¢ fawaTfaiys®
3. % Jdydiu®

4. % JUEISIUD

Question Number : 84 Question Id : 2752283698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

=12 fau 7T ee &1 vafgaTE Tee I1d HifoTU
3l

Options :
1. % 99
2. ¢ i
3. % 3kl
4. % 3{cd

Question Number : 84 Question Id : 2752283698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 fau 7T 2ee &1 vafgaTR Tee I1d HifvTU
3

Options :
1. % 99
2. ¢ Qi



3. % 3l
4. % 3cd

Question Number : 85 Question Id : 2752283699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifad <ree &1 yafgar 98t &, 31d sl
ik

Options :

1. ¢ FRIUR
2. % HHY
3. % faq

4. % fagM

Question Number : 85 Question Id : 2752283699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad wreg &1 wafgars 781 &, 1d i
g

Options :

1. ¢ FRIYR
2. % HHy
3. % fag

4. % fagr

Question Number : 86 Question Id : 2752283700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
faw U wredl & Y TNt BT 99 B
Options :

1. % Tgdl



2. % A
3.« TR
4. % Il

Question Number : 86 Question Id : 2752283700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
U MU wrsal A Y I BT T HIfTT|
Options :

1. % Fgdl

2. % YA

3. Rl

4. % TGl

Question Number : 87 Question Id : 2752283701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7T e T T e Xoa TH AT DITST|

3iifge: sifafed
Options :

1. ¥ $gl gafl-3rgfad
2. % gl goMm:3UBIft
3. % 3Ufdbdil-pal ga
4, % 3foId:UdBIfd

Question Number : 87 Question Id : 2752283701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77T Tsg T D1 gl s T FTd BT |
3iifga: sifafed

Options :



1. ¥ Hgl gom3rfud
2. % Dl gIMm3UDI
3. % 3fdbeil-epgl gam
4. % SR 3UDIfd

Question Number : 88 Question Id : 2752283702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T arem ) gy 1d iU
Sedl die 3Mman|

Options :

1. ¢ 3Rds

2. % Ffgmnies

3. # dlgWUdl JdPh
4. % UGS i

Question Number : 88 Question Id : 2752283702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T arem ) gy 19 I
el dle 3Mman|

Options :

1. ¢ 3R

2. % Ffgies

3. # dlgWUdl Jd&P
4. % UGS gi

Question Number : 89 Question Id : 2752283703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam T AT ford W 1 316Xl &, I Bl |




310 et feet! STTafi |
Options :

1. % Jyy

2. % 31H

3. HYH

4. % HAYYRY

Question Number : 89 Question Id : 2752283703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
e a1 aTe fb g Y b1 IETERUT B, I BT

31T el faeed! S|
Options :

1. % UYH

2. % 3dH

3. HYH

4, % AYJYRY

Question Number : 90 Question Id : 2752283704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied arell & 9 g I1e &1 99 Do |
Options :

|. % 98 HIS! Bl WG g

2. % g IS Bl WG 8|

3. % g HAe WG Bl

4. I8 SIS WG|

Question Number : 90 Question Id : 2752283704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeied ol & 9 (< 916 &1 99 B |
Options :

1. % g HAIS! P W@

2. % I8 HOIS! DI W W6

3. % QI Al |G o

4. ¥ 98 IS W5

Question Number : 91 Question Id : 2752283705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad aTeril # 4 Tgerd aTeRd 3T hifeig |
Options :

1. % 98 YTH SR A Bl AT ST

2. 95 QM T SR 1A P IC ST

3. % YIS I8 W 1 AT &, T 98 0l I Al ST
4. % S TH 1 7418, I8 X DI T SR

Question Number : 91 Question Id : 2752283705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad g o ¥ Wged a1 I1d S|
Options :

1. % Ig T S IAd I AIe 3|

2. ¢ 98 W 747 3R I1d 1 Al 7T

3. % Yie 95 MW $I AT 7, A1 98 A Bl A SR
4. % S MW S 741 5, I A B AT SR

Question Number : 92 Question Id : 2752283706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 O Iugad formy g &1 9g+ S|




EIEREIRE
Options :

1. ¥

2. %

3. e _

4. % A

Question Number : 92 Question Id : 2752283706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 ° Iugad for g &1 9g+ Siferg|

EIRGRICIGR]
Options :

1. %!

2. %

3w

4. % A

Question Number : 93 Question Id : 2752283707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 O Iugad form g &1 9g+ S|
T 379 UgH 91 &l

Options :

1. % guifoR™
2. % JURM
3. % BIYD

4. ¢ YYdiddh

Question Number : 93 Question Id : 2752283707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau Tu gt o Iuged far forg &1 T S|
T 319 UgH T 8l

Options :

1. ® guffrm
2. % JufarTH
3. % BIYD

4. ¢ YHdddh

Question Number : 94 Question Id : 2752283708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad oy &, fou U aR fawedl 5 9, 39 fawed &1 999 o3 o faU T GgTak & 31 &1 9a98 ¥ 4 ad dRal g |

G 1Y §HT
Options :

1. % Gfcarg s
2. % JhIdc g1
3. ¢ g U St
4. % WIHR DA

Question Number : 94 Question Id : 2752283708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad Uy &, fau U aR fawedl 5 9, 39 fawed &1 999 o o1 fau 0 GgTak & 31l &1 9a9§ ¥ 4 ad dRal g |

G BTY TGl
Options :

1. % giddrg &l
2. % ¥Ppldc a1
3. ¢ g U St
4. % WIHR B




Question Number : 95 Question Id : 2752283709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad ve , fou 70 IR fawed! & ¥, 39 fadwed &1 99+ & o7 fU 7TE GeTak & 31 &1 Y495 U I o9ad Rl |
oI 30 1Y BT

Options :

1. % PRI B e

2.« FUIGI BT I H g
3. % ggd i Bl

4. % TG

Question Number : 95 Question Id : 2752283709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad uy &, fou U aR fawedl 5 9, 39 fawed &1 99 o3 Sl fau 0 GgTak & i &1 99§ ¥ 4 ad dRal g |
Foold 3T BIY BT

Options :

1. % FRITHR S

2. v TG T IR A BT

3. % §gd i Bl

4. % TEHTGHT

Sub-Section Number : 2
Sub-Section Id : 275228243
Question Shuffling Allowed : Yes

Question Id : 2752283710 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

fgfiad T & eFyde gfeu 3R fau 7T usi & I i

& BT fTHR el & T axATi-ich Sit. AR - T 1895 Fo H T UT| I ITISHR & UYTq 3fd 0 & Sdl H STRIAR YUR 8Id off Xg
g dYT 3P IAMT & ot 3-33 IT1fe Tua=fia & 1 ST &1 Gad Ugdl SiedhiReT] WIH Sias H ST 711 U7l 31d df eR-¢R 3 i




SISHIRCT W= G b ¢ | ST & 3 ATH B, T FS1 AT o) I8 & [ gx-9-gx U WM & THER gH T Tdl G- B! {8 o1 & | o1
& T8t U1 79 39 B & Tgd a1 THT AT AT | 379 Al Gich P HTT0T BT ST D T I §H a8 81 Y Tdhd! § ol =gaih H oaT e
AT 8| 39 Sifafkad ST TARSH &1 U AF IUT I1 e[ 81 S0 TR &1 o U a1 Ty 8 1 ST gRT 84 310 aTdl &l HH 9 HH
TG H R ¥ R I ab UgdT Uahd & | fheft faaR & foriy a1 et & vaR - & forg Yfsa gaian wreq g1 WRd § Sififer safaaal o1 wemn
Y ¢ | THTER-THT 94T G| § fore! g5 aTal &l dhad RIferd afad g1 Ue Adhd &, THER-UF 3R gder 31 o a4 §1 d gFar s e o
9gd Ul 8 9 30 S1R1e & 39 715 ¥ FohIe &1 B ST §RT T ¥ fan S Tavd 3, S gRT 3 ue fad 1l I8 St I g 9 99
Tl g | ST GRT AH-FUR & B da! JIHAYGS [T S Thd ¢ | fIH & THDRI A AT & Seiaichd o a1 8, 3udl 98 W &g Ihd
g fob oriva &1 & YYd Hrh feEm 5|

Sub questions

Question Number : 96 Question Id : 2752283711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
&G 1 SffawepR fobar fobam U
Options :

1. ¢ Sit. AR

2. % qt ARG

3. % & Hrepit

4. % I deS

Question Number : 97 Question Id : 2752283712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BT HIY UG STSHINT W= H1 ST T UT?
Options :

1. % ik

2. % B

3. ¥ $ddS

4. % gaoff

Question Number : 98 Question Id : 2752283713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AR & fore & wred g2



Options :

1. ¢ 9§ YT Il

2. % I ayr oo

3. % e qur gEm

4. % GIMDHRS aUT

Question Number : 99 Question Id : 2752283714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T AeF B

Options :

IR [~

2. % Y

3. % qobIp

4, % TeAf

Question Number : 100 Question Id : 2752283715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7TQ TR T Iuged =fd F1 g
Options :

1. % g gre

2. ¢ A& T Hg@

3. % T WY

4. % AT 1 3UANT

Question Id : 2752283710 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

frgfaied Taiw & eyde gfeu 3R fau 7T usi & I i

& BT fTHR el & U axiTi-idh Sit. AR - T 1895 Fo H T UT| I TISHR & UYTq 3fd 0 & adl H STRIAR YUR 8Id off X
g dYUT 3P IAfT & ot 3-33 Iqfe TuaRfia & 1 ST &1 Jad Ugdl SiedhiRe T WIH Sias H ST 1 U7l 31d df eR-¢R 3 =i
SISHIRST TR G b & | ST P 3 ATH §, T §1 ATH 1 I8 & [ GR-U-gR U M & THER 8 dabTd G &1 7d offd g | 919




& 8T U179 S S T dgd Ad] THI AT AT 3 Al i &b UV D1 ST B Feradl A 89 99 8] G Iohd & ol Jhie H 9371 Afad
AT 8| 39 Sifafkad ST TARSH &1 U AF IUT I 1eq 81 S0 TR &1 o U a1 Ty 8 | ST gRT 84 31U aTdl &l HH 9 HH
TG H R U R I ab UgdT Uahd & | fheft faaR & foriy a1 et & vaR - & forg Yfsa gaian wreq g1 WRd § Sififér safaaal o1 wem
Y ¢ | THTEAR-TH 94T G| § fore! §s aTal &l dhad RIferd afad g1 Ue Ahd &, THER-UF 3R gxde 3 o a4 §1 d gRar o are o
§gd Ul 8 9 30 S1R1en & 39 715 ¥ FohTe &1 w1 ST gRT T ¥ fan S Tavd 3, S gRT 3 ue fad v 39 St I g 9 99
Tl g | ST GRT AH-FUR & B da! JIHAYGD [T S Thd ¢ | fIH & THDRI A AT & STeiaichd o a1 8, 3udl 98 W &g Ihd
g fob Sriva o1 &1 YYd HRab feEr 5|

Sub questions

Question Number : 96 Question Id : 2752283711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
&G 1 SffawepR fobar fobam Ut
Options :

1. ¢ Sit. AR

2. % qt ARG

3. % & Hrepit

4. % I doS

Question Number : 97 Question Id : 2752283712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BT JIY UG STSPHINT W= H1 ST T UT?
Options :

1. % Qhid

2. % B

3. ¥ $ddS

4. % gaoff

Question Number : 98 Question Id : 2752283713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST AARS & fog S Hre= 82

Options :



1. ¢ 9§ YT Il
2. % g ayr oo
3. % g quT g
4. % DR I JTH

Question Number : 99 Question Id : 2752283714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T e B

Options :

IR [~

2. % 2

3. % qobIp

4, % TeAf

Question Number : 100 Question Id : 2752283715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T TR 1 Sged =SS T I
Options :
1. % g gre
2. A HTHEE
3. % T WY
4. % AT &1 3UANT

Disciplinel
Group Number : 6
Group Id : 275228114
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No



Break time : 0

Group Marks : 20
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Number of Questions : 20
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Section Marks : 20
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Sub-Section Number : 1

Sub-Section Id : 275228244

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752283716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What characteristics must an exercise have to be hygienic?

L. It should be the wholesome activity of the circulatory system
II. It should be the wholesome activity the excretory system

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 101 Question Id : 2752283716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WIS 814 & o A § o1 foRivang g =anfew?

1. I8 YT o 1 SIRIGSl-Teh AT g F1ey
1. I8 I o3 Bt SRITISS fafafy g gy

Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT
4. % A IAIEI

Question Number : 102 Question Id : 2752283717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the important value(s) to be kept in mind in organizing a department for girl’s work in physical education?

I. Women should teach girl's classes and should coach girl's athletic teams.
II. The activities in the gymnasium, on the playground, or athletic field should be organized around the idea of girl's specific standards and
accomplishments.

Options :

1. % OnlyI

2. % Only I

3. * Both I and II
4. % Neither I nor IT

Question Number : 102 Question Id : 2752283717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 1&g & TSH! & B & oW TH [TUF & o § Fafafed 8 4 319 3§ Agaqul Ged/ged! & & § 751 Q-1 811 6/87

1. Aigasil & asfeal o Hansil o ugrHr w1t iR dsfeal o vyafes daf o ufiféa s anfsu|

g%qlqll-l-‘illﬂl H Td P A W I wyafes & # nfafafal & asfeal & Ry ame! Sk Suafer & foaR & se-fife smafera fasar sirn
|

Options :

1. % BHad |




2. % Had 11
3. % YT G
4.« TABIATBII

Question Number : 103 Question Id : 2752283718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is not correct regarding the divisions of educational hygiene?
Options :

1. % Nurses and Doctors — Medical Supervision

2. % Posture and Correctional Exercises — Physical Education

3. % Oculist, Surgeons — Physical Education

4. % Hygienic toilet seats — School Sanitization

Question Number : 103 Question Id : 2752283718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aférep W fagme & faurer! & de o Fufaled & 9 & a1 9aieH w8t T8l 82
Options :

1. % T 3R Slae - R wddem

2. % I 3R YURTEHD T - RN A&

3. ¢ 71 - fORIey, o - TR e

4. % S QrATe I - farnerd Wi

Question Number : 104 Question Id : 2752283719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following individuals are unable to pursue the general school curriculum in Physical Education?

I. Individual with chronic heart disease
II. Individual with orthopedic defect
II1. Physically handicapped individuals

Options :
1. % Tand III



2. % ITand III
3. % Tand II
4.+ 1 Il and I1I

Question Number : 104 Question Id : 2752283719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfafied & @ o o1 afdd IR e & I o Ueashd & 31 geM H s/amd g2

1. T g I ¥ IRd afad
1. B3I 7T &IV ¥ T ek
111, IRIRS ¥0 I fawai afed

Options :

1. % TdYTIII
2. % [T dUTIIT
3.% 1dYTII

4, % T, 1 dUTIIT

Question Number : 105 Question Id : 2752283720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the important factors in prevention of Sports Injuries?

I. Helmets
II. Clothing
III. Footwear

Options :

1. #® Il and III
2. % Tand II
3.4 1 [l and III
4. * Tand III

Question Number : 105 Question Id : 2752283720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

W el ol ey H FfaRed 7 9 & J 7gayul R 82
1. gHC

I1. d¥d

1L S[d

Options :

1. = [ ddT I
2% 1dUT
3.9 L T dYUT I
4. % [ dUT I

Question Number : 106 Question Id : 2752283721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factor(s) is/are responsible for muscle ruptures?

I. Weak muscle
II. Fatigued muscle
II1. Prolonged exposure to cold

Options :

1. % 1, 1T and III
2. % Il and III
3. % Tand II

4. % Only I

Question Number : 106 Question Id : 2752283721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafifEad ¥ @ P T/ $RS HHURAN F geq RU=R) F oy IwRerd 2787

I. HHOIR HIGuURh

1. %id Ao

111, 9IS JHY db 58 &b YU | g
Options :



1. 1, AU
2. % QYT
3.8 [T
4. % Had I

Question Number : 107 Question Id : 2752283722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about strengthening exercises?

Options :

1. # These exercises can be done if the limb is immobilised in a cast

2. ¥ These exercises weakens the muscles of the joint angle at which the contraction is performed
3. # The frequency and duration of these exercises depend on the state of musculature

4. % These exercises include isometric, isotonic and isokinetic techniques

Question Number : 107 Question Id : 2752283722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAGRS A & IR H FEfafed & 3 &H 91 H4- g1 T8l 62

Options :

1. % Y M q4 fHT o ¥ehd & gfe 37 (Rie) T e § siaex 8l

2. ¢ T ST Y 10T, R IR TparT {3 SITa B, Bt AUt & ik ad &
3. % g Al B 3Ry 3R 3afy Aigaar o) fRUfd R R B &

4. % 3 AT H YHRA, THIRIRY 3R THTfae dab-id QM §

Question Number : 108 Question Id : 2752283723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the function(s) of the skeletal system?

I. Supports and protects the body
II. Locomotion
III. Production of blood cells

Options :



1. ¥ I, Il and III
2. % Il and III
3. % Only II

4. % Only I

Question Number : 108 Question Id : 2752283723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i § 4 19 9/ bold oF H1/d B 8/8?

L. TRR P YERT T § 3R JR& FRal §
11, T8
111, Yad HIRABT3M BT IATGH

Options :

1. L I dYUT I
2. % I dUTIII
3. % Bhad 11

4. % Had

Question Number : 109 Question Id : 2752283724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While giving massage which of the following is not the important consideration?
Options :

1. # The pressure should be in line with venous flow

2. % Massage should not begin and end with effleurage

3. % Massage should be painless

4. % Direction of force should be in the direction of muscle fibres

Question Number : 109 Question Id : 2752283724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIfereT Ra THg e § Q & 91 Agayu! faaR 6l 82




Options :

1. % GqTd RRTYA18 & =Y g1 d1igy

2. ¢ HIIR YUYUH ¥ TR 3R W &1 g1 A8y

3. % HICRI GG M B dTgl

4. % ¥ P! G AIGURN WIgeR oI fa=n 4 g1 =g

Question Number : 110 Question Id : 2752283725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abdominal obesity is associated with increased risks of

I. Diabetes
II. Hypertension
II1. Coronary Heart Disease

Options :

1.+ I, 1I and 11
2. % I and III
3. % Only III

4. % Tand III

Question Number : 110 Question Id : 2752283725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR G & JGd SNaHl 3 e g
1. 9Yag

I1. =R
111 Ih1T g4 AT

Options :

1.+ 1 11 dYT I
2. % J1dYUT I
3. % Had I
4, % 1dYT I



Question Number : 111 Question Id : 2752283726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Body Mass Index can be calculated by which formulae?
Options :

1. # [Height(Metres)%/Weight(Kg)
2. % [Weight(Kg)/Height(Metres)?
3. ¢ [Weight(Kg)/Height(Metres)?
4. % [Height(Metres)>/Weight(Kg)

[ e T Sy B |

Question Number : 111 Question Id : 2752283726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SISl T SS9 D1 U] fohd I3 GRT DI S Tabelt 87
Options :

1. % [GarsdEe)2/asH(d )]

2. % (g In)/SAR (R3]

3. ¢ [aor(fh I )/ &ams (Hie)?]

4. % [arsHIe)d A (E )]

Question Number : 112 Question Id : 2752283727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following technique(s) is/are associated with dehydration and affect athletic performance?

I. Use of diuretics
II. Sauna bath
II1. Cathartics or Induced Vomiting

Options :

1. % Tand III
2. % Il and I
3. % Only II

4. 1 Il and 111



Question Number : 112 Question Id : 2752283727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR # 9 1= H debeiic FsielibRul A ST 7 3R Tyelfee Y= i GHIfdd Bl o/6?

I g;%?ﬂwqﬁn
RSIGIRSIGH

111 TS (HYfEaT) a1 Uik Iee
Options :

1. % 19YTIII

2. % [ AYTIII

3. % Hadll

4.« 1, 11 QUT I

Question Number : 113 Question Id : 2752283728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are some important guideline(s) for a pre competition meal?

L. It should be high in carbohydrate and low in fat and should be digestable
II. Avoid sweet drinks within one hour before the competition
II1. Allow adequate time for food digestion. It is 3 to 4 hours for a large meal and 2 to 3 hours for a small meal

Options :

1. % 1, II and IIT
2. % Il and III
3. % Tand I

4. % Only I

Question Number : 113 Question Id : 2752283728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.« 1, I ddT 11T
2. % I dYr

3.% 19U
4. % HAd 11

Question Number : 114 Question Id : 2752283729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the source of saturated fats?
Options :

1. % Eggs

2. % Olive oil

3. ¥ Milk

4. % Corn oil

Question Number : 114 Question Id : 2752283729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § & S a1 JJwd a9 BT Hd 82
Options :

1. % 3fg

2. % ST BT

3.¢v°qY

4. % HIb HIdd

Question Number : 115 Question Id : 2752283730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the reason(s) behind the cities engaging in the Mega-event strategy?



L. City leaders see the Olympic games in strategic terms, providing opportunities to gain regional, national and international media exposure at low cost.
II. Hosting the Olympics can be justified as a boon to tourism and tourism revenues.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 115 Question Id : 2752283730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bad 1

2. % HadII

3. ¢ 13T gl

4. % ATBIIATRII

Question Number : 116 Question Id : 2752283731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During ancient Olympics, a Olympic truce was called. Which of the following was/were the rule(s) of that truce?

I. All wars must stop for three months during Olympic training and the games.
II. Armies and men with weapons cannot enter the Olympic grounds.
III. There is no death penalty during the Olympics.

Options :

1. % Tand II

2. % Only I
3. # Il and III



4. % 1,11 and 11T

Question Number : 116 Question Id : 2752283731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 19U

2. % Had I

3. % [1dYTIII
4.« 1, 1 QUT I

Question Number : 117 Question Id : 2752283732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anatomy is divided into two parts. Which of the following is/are that/those part(s)?

I. Gross Anatomy
II. Microscopic Anatomy

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 117 Question Id : 2752283732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had I

3. ¢ 1 AU 11 AT

4. % A IATEI

Question Number : 118 Question Id : 2752283733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are many elements in a human body. Which of the following is most abundant?
Options :

1. % Carbon

2. % Oxygen

3. # Nitrogen

4. % Hydrogen

Question Number : 118 Question Id : 2752283733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Plad

2. 3RS

3. % A3

4. % GIEQIoH

Question Number : 119 Question Id : 2752283734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the energy transformer of the cell.
Options :



1. # Centriole
2. % Mitochondria
3. # Filament

4. % Lysosomes

Question Number : 119 Question Id : 2752283734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, PIRIBT BT SHoll SRSl 5|

Options :

1. % AR&baD

2. ¢ AEcIpizal

3. % dd

4. % AZEEH

Question Number : 120 Question Id : 2752283735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the type(s) of tissues?

I. Epithelial tissue
II. Nervous tissue
III. Connective tissue

Options :

1.+ I, II and III
2. % Tand III

3. % Only II

4, % TandII

Question Number : 120 Question Id : 2752283735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1, I ddT 11T
2. % [ dUT I
3. % Bad 11

4. % 1dUT I
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752283736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Joints?

I. Amphiarthrosis joint has limited mobility
II. The immobile nature of synarthrosis joint provide for a strong union between the articulating bones
II1. On the basis of structural classification, Fibrous, Cartilaginous and Synovial are three types of joints

Options :

1. % Il and 111
2. % Only Il

3. ¥ 1, I and 11T
4. % JTand III

Question Number : 121 Question Id : 2752283736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I dYUTIII

2. % BHad I

3.4 [, 11 dYUTIII

4, % 1dYUTIII

Question Number : 122 Question Id : 2752283737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proprioceptive Neuromuscular Facilitation Stretching increases range of motion by augmenting prior muscle relaxation through spinal reflex
mechanisms using few techniques. Which of the following is/are that/those techniques?



I. Contract — relax stretch
II. Contract — relax with agonist contraction

Options :

1. % OnlyI

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 122 Question Id : 2752283737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAdA I

3. ¢ 1 qUT I &Y

4. % GBI

Question Number : 123 Question Id : 2752283738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the type(s) of muscle action?

I. Concentric action
II. Eccentric action
III. Isometric action

Options :

1. # Tand III
2. ®* Il and III
3.4 1 [l and III



4. % Only I

Question Number : 123 Question Id : 2752283738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dUTIII

2. % [IAYTII

3.9 1 11 AU I
4. % Had I

Question Number : 124 Question Id : 2752283739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following equipment(s) is/are used for plyometric exercises?

I. Dumbbells
II. Hurdles
II1. Stairsteps

Options :

1. % Il and III
2.9 1, Il and III
3. % Only Il

4. % Tand II

Question Number : 124 Question Id : 2752283739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % I dYrI

2. 1, 11 YT 11
3. % Had I
4. % 19U

Question Number : 125 Question Id : 2752283740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors determine speed?

I. Regulating procedure of nervous system

II. Psychic factors

III. Technique

IV. Elasticity and Relaxing Capacity of the muscles

Options :

1. %® I, Iand IV

2. I Il and IV
3. # Il and IV

4. % Il and IV

Question Number : 125 Question Id : 2752283740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % LIIdUT v

2. LILIN AU IV
3. % IIdUT IV

4, % I dYT IV

Question Number : 126 Question Id : 2752283741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of skills of sports with the aim of attaining highest proficiency in competition is called technical training.

I. Conscious improvement
II. Strengthening

Options :

1. # OnlyI

2. % Only I

3. Both I and II
4. % Neither I nor IT

Question Number : 126 Question Id : 2752283741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had I
2. % Had II
3. ¢ 13U gAY
4. % qEIIATRII

Question Number : 127 Question Id : 2752283742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Various individual practices coupled with the term yoga are

I. Lauliki yoga
II. Neti yoga
II1. Dhyana yoga

Options :

1. # Tand III

2. % Il and III
3. 1, I and I
4. % Only III

Question Number : 127 Question Id : 2752283742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [T I
2. % [ AYTIII

3.9 L I AdYUT I

4. % Had I

Question Number : 128 Question Id : 2752283743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Innumerable varieties of cultural asanas are performed in which of the following position(s)?

I. Sitting

II. Standing
III. Lying
Options :

1. # Tand III



2. % ITand III
3. % Only1
4. 1,11 and III

Question Number : 128 Question Id : 2752283743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TdYTIII
2. % [T dUT I
3. % had 1

4.« 1, 1 AUT I

Question Number : 129 Question Id : 2752283744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the list I of phases of Pranayamas with the list II of technical names and select the correct alternative from the given alternatives.

List T List II
Controlled

A i P | Rechaka
Inspiration
Controlled

B Retention kg | Bkt
Controlled

C i R | Kumbhaka
Expiration

Options :

1. # A-Q, B-P, C-R



2. % A-P,B-R, C-Q
3.¥ A-Q,B-R, C-P
4. % AR, B-P,C-Q

Question Number : 129 Question Id : 2752283744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTOMTATH & TROT & YT 1 B ddb-1ab! ATH B G 11§ GHeTd Biforg 3R 3T 7Y fawed # & 9et faswed &1 9 S|

=1 = I
fafassRor | p (W99
B | fafya gfauror | Q | 1=
fafya e | R | Feers

Options :

1. % A-Q,B-P,C-R
2. % A-P,B-R, C-Q
3. ¥ A-Q,B-R, C-P
4. % A-R,B-P, C-Q

Question Number : 130 Question Id : 2752283745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the Post-game duties of an official?

I. To thank other officials of the game
II. To welcome the winning team and boost the loosers
II1. To handover equipment like the playing ball, stop watch etc. to the organisers

Options :

1. # Tand III
2.9 1, Il and III
3. % Only I



4. % Il and 1T

Question Number : 130 Question Id : 2752283745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1qUTIII

2. LI AYTIII

3. % Had Il

4, % TIdUTIIT

Question Number : 131 Question Id : 2752283746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following caution(s) should be noted regarding the philosophy of officiating?

I. The philosophy does not apply to all rules or even to most rules.
II. When the philosophy does apply, then the official must know and understand the correct rule interpretation so that the decisions rendered are as
consistent as possible.

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 131 Question Id : 2752283746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % AI@IATEI

Question Number : 132 Question Id : 2752283747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct?

Options :

1. % The lines of the lanes of a standard track are 5 cms/2 inches in width
2. % The scratch line in javelin throw is 7 cm/approximately 3 inches wide
3. ¥ Standard track consists of maximum 12 lanes

4. % Standard track consists of minimum 6 lanes

Question Number : 132 Question Id : 2752283747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froffed & ¥ o a1 wy 98 T 32

Options :
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3. ¢ OFd ¢ B 3ifbar 12 A S &
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Question Number : 133 Question Id : 2752283748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Relay races are of two types. Which of the following is/are that/those type(s)?



[.4 <100 m
II. 4 x 400 m

Options :

1. % OnlyI

2. % Only IT

3. Both I and II
4. % Neither I nor IT

Question Number : 133 Question Id : 2752283748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I. 4 x 100 HIcR
I1. 4 x 400 TR

Options :

1. % Had |

2. % Had I

3. ¢ 13U gAY
4. % qIIIATRII

Question Number : 134 Question Id : 2752283749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Amsterdam Olympics, women discus throw was introduced. In which year amsterdam olympics took place?
Options :

1. # 1904

2. % 1916

3. % 1920

4.9 1928

Question Number : 134 Question Id : 2752283749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 1904

2. % 1916

3. % 1920

4. % 1928

Question Number : 135 Question Id : 2752283750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Within the athlete’s sport, by which of the following commitment can be undermined?

I. A perceived lack of progress or improvement
II. Lack of enjoyment

II1. Becoming bored

I'V. Anxiety about performance — Competition

Options :

1. % I, II and III

2. % II, T and IV
3.% LLlland IV

4. % I, 11, Il and IV

Question Number : 135 Question Id : 2752283750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tylie & Wd & sfaifd, FafiRad & 9 f5u & gR1 ufasdr &1 s/aqee o S wehdT 62

1. TRTI T GUR BT ST 34T
11. TG T 3{HTd

. 3 d ST

1v. U= & IR H fiar - ufoaef
Options :

1. % L IIdYT I



2. % ILUT AT IV
3% LIOAUTIV
4. LIL I dUT IV

Question Number : 136 Question Id : 2752283751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By keeping what objective(s) in mind, psychology in physical education addresses important areas such as growth and development, motor skill
acquisition, heredity and environment etc.?

I. To understand the real springs of activity behaviour
II. To optimize benefits of physical activity in terms of growth and development
II1. To ensure harmonious development of child’s personality

Options :

1. # Tand III

2. % Only I

3. # Il and III
4. % ], I and III

Question Number : 136 Question Id : 2752283751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I dYTIII
2. % had III
3. % I dYUTIII
4. % 1, 11 dUT 111



Question Number : 137 Question Id : 2752283752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the two-fold aim(s) of sport psychologists?

I. To understand the effects of psychological factors on physical performance
II. To evaluate the effect of participation in sports activities on a person’s psychological development, health and well being

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 137 Question Id : 2752283752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % had |

2. % Had Il

3. ¢ 13U gAY
4. % qEIIATR

Question Number : 138 Question Id : 2752283753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Growth has several aspects. Which of the following is/are that/those aspect(s)?

I. Intellectual
II. Emotional
III. Social

Options :



1. ¥ 1, 1l and III
2. ®* Il and III
3. % Only 1

4, % Tand II

Question Number : 138 Question Id : 2752283753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1, 11 dUT 1T
2. % [T dUTIIT
3. % had 1

4, % 14U

Question Number : 139 Question Id : 2752283754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Learning has a significant impact on individual behaviour as it doesn’t influence

I. abilities
II. role perceptions

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 139 Question Id : 2752283754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % [ UT I gAY
4. TIRIIATRII

Question Number : 140 Question Id : 2752283755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the general assumption(s) about learning?

I. Learning is a function of the characteristics of environmental settings.
II. Learning, regardless of capacity, is due to either classical conditioning, operant conditioning or both.

Options :

1. * Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 140 Question Id : 2752283755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. 1aUTI G
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Discipline3
Group Number : 8
Group Id : 275228116
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 275228206
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228246
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752283756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most traditional theories of transfer of learning have emerged from rational experience and limited experimentation. Which of the following is/are the
traditional theory(ies) of Transfer effect?



I. The two factor theory
II. Formal discipline theory
II1. Identical element theory

Options :

1. % ITand III
2. % Tand II
3.9 I, Il and III
4. % Only III

Question Number : 141 Question Id : 2752283756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [1dUT I
2. % 14dUTII
3.9 L ITAdYUT I

4. % Had 11

Question Number : 142 Question Id : 2752283757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about Extrinsic motivation?
Options :

1. % Motivation that comes from outside of the performer is extrinsic motivation
2. #® It is geared toward external rewards and reinforces

3. # Coercion and threat of punishment are also common extrinsic motivations

4. % Money is not one of the examples of external motivation



Question Number : 142 Question Id : 2752283757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SHTOROT & SR # FUfeied & 9 & 91 Sy Ta! T8l 82
Options :

1. % HATHR & 918 Y A aTell IR a7 RO Bielt 8
2. % gg 91831 31 aUT 9 Bt 3R i Bl ]

3. % JUTS 3R ol &1 WeRT Y [T 1T SHTHTROME

4. « U1 STEY SIFHORUT &7 IS8R0 61 &

Question Number : 143 Question Id : 2752283758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘An intercollegiate athletic director who holds regular staff meetings in which items that affect the department and student-athletes are discussed.” The
above statement describes which traditional theory of philosophical and theoretical managerial orientation?

I. Autocratic
II. Laissez-faire
III. Democratic

Options :

1. % Only III

2. % Only I

3. % Only I

4. % Neither I nor II nor IIT

Question Number : 143 Question Id : 2752283758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ &had I

2. % Had I

3. % Hadl

4, % A IABIIIATS I

Question Number : 144 Question Id : 2752283759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the common goals of sport often espoused by high school officials?

I. Promoting physical excellence

II. Engendering an appreciation of competition and the will to win
II1. Instilling morale

IV. Group loyalty

Options :

1. % I, II and IIT

2. ® Il and IV
3.9 111, Il and IV
4. % Il and III

Question Number : 144 Question Id : 2752283759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1, TATIII

2. ® I AYTIV

3L NI YT IV




4. ® [1TUTIIT

Question Number : 145 Question Id : 2752283760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the criteria for a good budget?

Options :

1. # Key and representative persons in the organisation have been consulted.

2. % Budget reflects equitable allocations to boy’s and girl’s physical education, recreation and sports programs.
3. ¥ Budget requests are padded, not realistic.

4. % The budget clearly presents the financial needs of the entire program in relation to the objectives sought. Goals and objectives drives the budget.

Question Number : 145 Question Id : 2752283760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 2752283761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the function(s) of sports management?

I. Planning for sports
II. Organizing in sports
Options :

1. % Only I

2. % Only II

3. ¥ Both I and II



4. % Neither I nor II

Question Number : 146 Question Id : 2752283761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & 9 SH 91/8 @d Uded $1/d B 5/8?

1. 99 & fore FHaeH
1. Tl H 3o
Options :

1. % Bhad |

2. % 5Had I

3. ¢ 1 AU 1L AT

4. % AIAIAIEI

Question Number : 147 Question Id : 2752283762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following may be the qualitie(s) of a good leader?

I. Decisiveness
II. Foresighted
II1. Progressive mind

Options :

1.9 I, II and III
2. % Il and III
3. % Only II

4, % Tand I

Question Number : 147 Question Id : 2752283762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. [ ITdUTIIT
2. % I dUT I
3. % Hhad Il

4, % 14U

Question Number : 148 Question Id : 2752283763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the advantage(s) of Budgetary Control?

I. Maximises efficiency by eliminating all wastages and losses
II. Ensures coordination and centralised control but not at the cost of delegation of authority

Options :

1. * Only I

2. % Only I

3. % BothIand II
4. " Neither I nor IT

Question Number : 148 Question Id : 2752283763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd I

3. % [ UT I gAY

4. ARITATRII



Question Number : 149 Question Id : 2752283764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the goals(s) of Sport and Exercise Biomechanics?

I. Performance improvement in exercise or sport
II. Injury Prevention and Rehabilitation

Options :

1. % OnlyI

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 149 Question Id : 2752283764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad |

2. % Had Il

3. ¢ 13U gAY
4. % qEIIATRII

Question Number : 150 Question Id : 2752283765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the 1968 Olympics held in Mexico, a new technique ‘Fosbury Flop’ in the high jump was introduced. Which athlete introduced this technique?
Options :

1. #* John Carlos

2. % Mike Fosbury



3. ¥ Dick Fosbury

4. ¥ Tommie Smith

Question Number : 150 Question Id : 2752283765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S Brarg

2. % HZH BRI

3. ¢ & B

4. % il Ay

Question Number : 151 Question Id : 2752283766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. The synovial fluid excreted by the synovial membrane is a viscous fluid similar in appearance to egg whites.
II. The articular cartilage is a sleeve of ligamentous tissue that surrounds the joint.
II1. The articular capsule is the bearing surface between moving bones.

Options :

1. % Tand I
2. % Il and III
3. % Only III
4. % Only I

Question Number : 151 Question Id : 2752283766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 13111

2. % [ dYUT I

3. % Had I

4. ¢ Had |

Question Number : 152 Question Id : 2752283767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of force?

Options :

1. # Joule

2. % Watt

3. % Newton

4. # Candella

Question Number : 152 Question Id : 2752283767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I D1 TH.3MTS. THTS TN 67

Options :

1. % 9d

2. % dIc

3. ¥ Ycd

4. % GHsdl

Question Number : 153 Question Id : 2752283768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following, soles of the shoes have smaller coefficients of friction?



I. Cricket
II. Dancing
II1. Bowling

Options :

1. ¥ Il and III
2. % I, I and III
3. % Only I

4. % Only III

Question Number : 153 Question Id : 2752283768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« I YT III
2. % [ I TYUTIII
3. % HadII

4. % Had I

Question Number : 154 Question Id : 2752283769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?

I. Newton’s first law of motion provides the basis for the principle of conservation of momentum (If we consider only objects whose mass is constant)
II. Linear momentum is the product of an object’s mass and its linear velocity
II1. The faster an object moves, the less momentum it has

Options :

1. % I, T and III
2. % Il and III
3. % Only III



4. % Only I

Question Number : 154 Question Id : 2752283769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I, IT dYUT 111
2. % I dYUTIII
3. ¢ Had I
4. % Had 1l

Question Number : 155 Question Id : 2752283770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Angular Displacement?

I. Angular displacement is the angular analog of linear displacement
II. Angular displacement is called the change in absolute angular position experienced by a rotating line

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 155 Question Id : 2752283770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % AIAIAIEI

Question Number : 156 Question Id : 2752283771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The unit or yardstick chosen for the measurement should have which of the following essential qualities or properties?

I. The unit should be clear, well-defined
II. The unit should yield the necessary precision to the measurement function
II1. The unit should be uniform and homogeneous (inelastic) throughout the measurement process

Options :

1. * Only III
2. % 1 Il and III
3. % Only I

4. % Il and III

Question Number : 156 Question Id : 2752283771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ad I

2.9 LI dUTIII

3. % Had I




4, % 11 dYT I

Question Number : 157 Question Id : 2752283772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Match the list 1 of sports skill test with the list 2 of sports related with them and select the correct alternative from the given alternatives.

Tast 1 T.ist 2

French Short Serve

A P | Basketball
Test

B | Knox Test Q | Basketball

- Mitchel Medication 2 |

: Soccer

of McDonald Test

D | Johnson Test S | Badminton

Options :

1. % A-S,B-R, C-Q, D-P
2. % A-Q, B-S, C-R, D-P
3.+ A-S, B-Q, C-R, D-P
4. % A-P,B-Q, C-R, D-S

Question Number : 157 Question Id : 2752283772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ A-S, B-R, C-Q, D-P
2. % A-Q, B-S, C-R, D-P
3. ¥ A-S, B-Q, C-R, D-P
4. % AP, B-Q,C-R, D-S

Question Number : 158 Question Id : 2752283773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the depth of skin damage, in which of the following type(s) burns are categorised?

I. Superficial burn
II. Partial thickness burn
II1. Full thickness burn

Options :

1. % Tand I

2. % 1 Il and III
3. % Il and III
4. % Only III

Question Number : 158 Question Id : 2752283773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1311

2. ¢ 1 I QYT I

3. % [T dUT I

4. % Had 11

Question Number : 159 Question Id : 2752283774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the measure(s) to be taken for the better management of world’s water resources?

I. Develop small catchment dams and protect wetlands
II. Building several small reservoirs instead of few mega projects

Options :

1. % Only I

2. % Only I

3. Both I and II
4. % Neither I nor IT

Question Number : 159 Question Id : 2752283774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % HAd I
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4, % AIGIATBIII

Question Number : 160 Question Id : 2752283775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When soil is used more intensively by farming, then the soil is eroded more rapidly by

I. wind
II. rain

Options :

1. # OnlyI

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 160 Question Id : 2752283775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad |

2. % Had I

3. ¢ 13U gAY
4. % qREIIATRI

Discipline4
Group Number : 9
Group Id : 275228117
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 275228207

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228247

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752283776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the Central Pollution Control Board initiated its own National Ambient Air Quality Monitoring (NAAQM) program?
Options :

1. ¢ 1985
2. % 1960
3. % 1993
4. % 1997

Question Number : 161 Question Id : 2752283776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 1985
2. % 1960
3. % 1993
4. % 1997

Question Number : 162 Question Id : 2752283777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water that is found in is known as surface water.

I. rivers
II. lakes
II1. wetlands

Options :

1. % Il and III
2. % 1 Il and III
3. % Only I

4. % Only II

Question Number : 162 Question Id : 2752283777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1[I dYT I
2.9 1 11 dYTIII
3. % had I

4. % Had 11




Question Number : 163 Question Id : 2752283778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Physical education teaching is an open book, having wider dimensions in activity organisation and teaching methods
II. Physical education teacher makes use of a variety of methods to achieve the desired ends of health, fitness, recreation and achievement

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 163 Question Id : 2752283778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had

2. % Had Il

3. ¢ 1 qUT I &Y

4. % GBI

Question Number : 164 Question Id : 2752283779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors influences the methods of teaching in physical education?

I. Skill of a teacher
II. Nature of school
III. Teacher’s personality

Options :



1. # Tand III

2. % Tand II

3. # Il and III
4. 1 1l and III

Question Number : 164 Question Id : 2752283779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TdYUTII
2. %I4T

3. % I dUT I
4, % T, 1 dUTIIT

Question Number : 165 Question Id : 2752283780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which model(s) is/are available in the market and can be easily procured for teaching anatomy — physiology and biomechanics?

I. Heart
II. Liver
III. Brain

Options :

1. % Tand III
2. % Only II

3. % Only III
4. % 1,11 and III

Question Number : 165 Question Id : 2752283780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdUT I
2. % Had I
3. % BHad I

4. 111 TdYTII

Question Number : 166 Question Id : 2752283781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an advantage of a lesson plan?
Options :

1. % The lesson plan helps the teacher to organise his subject matter properly and makes it easy for the students to understand the subject within time
limits imposed by the school time table

2. % When lessons are planned, wastage of resources is checked and there is economy of effort
3. % Goals and objectives of teaching are achieved through lesson plans by taking recourse to any extraneous measure

4. % With this, the teacher plans a series of activities with an objective to bring about modification in children’s attitudes, habits and behaviours

Question Number : 166 Question Id : 2752283781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad o @ o9 91 UTe TS o7 aH T8 82

Options :

1. % T T 181 B 3= fawy &) Sip ¥ gl o3 § Hee el ¢ 3R BFl & o f9ermey ergH eod gry Ry Tvg dm & HfiaR
g &) JHZAT ST ST §

2. % O[F UG B AIoiT S1S STl B, S1eT B §aidl &1 Sitd B oirdl & 3R Uad drad gidl &

3. « 21101 & Teat 3R I ol fpa) +ff I18d) SUTT BT TGRT AHR UTS A3 & Hiend J Tt foban Siram @



4. % Y 1Y e =l &b IR, 3MEd! R qdgR H e T & I5=7 J Ml &1 U §7al &1 JioH1 a-1d1 §

Question Number : 167 Question Id : 2752283782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Limbering Down’ is an important step of lesson planning. Which of the following exercises are useful for this purpose?

I. Long-breathing
II. Stretching

II1. Shaking limbs
I'V. Head-dropping

Options :

1. % I, Hand IV

2. % Iland IV

3. # Iand III

4. 111, I and TV

Question Number : 167 Question Id : 2752283782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TorafaT SIS UI8 Ao &1 U Ag@yul @R § | FEfiRad # ¥ i 3 SIam 39 WiieH & g Suatt 82
1. el i o

I1. T

1. 3T (fefs) fam

IV, §8-SIUT

Options :

1% LITdUTIV

2. % [IdUTIV

3. % ITdYT I

4. LIL AU IV

Question Number : 168 Question Id : 2752283783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about Team games?

Options :

1. % In team games, it is sailing and sinking together

2. % Team games involve a great deal of positional and strategic play

3. % Team games are not fraught with variety of dangers such as collision among players, spectator’s interference etc.

4. % Team games require frequent and varied change of movement pattern

Question Number : 168 Question Id : 2752283783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A @ & SR A FgRied & § P @ o 9l T &

Options :

1. % Syl o, iR SR Rifd1 v Ay g §

2. % AW T § 9gd 3 Ry 3R e T Tidd e @

3. ¢ ¢ 9 faftel YR & Wkl ¥ X 81 Bl § oI el o siie cehvla, aRiep| 1 gy 3Mfg
4. % 0 QA H A Yot & AR IR [3f3y uRacd= T snazgemar gid 3

Question Number : 169 Question Id : 2752283784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Class management is influenced by various factors. Which of the following is/are those factor(s)?

I. Strength of class
II. Student’s previous experience

Options :

1. % Only I

2. % Only II

3. ¥ Bothland II
4. % Neither I nor II

Question Number : 169 Question Id : 2752283784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HeT Uy fAfie PR ¥ yHIad giar g | Fufafad § @ &9 91/ 98/d RS 8/8°?

1. weq ¥ faenfial ot Tem
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Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % I IATEI

Question Number : 170 Question Id : 2752283785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After anticipating and planning, the teacher prepares to deliver goods. Which of the following is/are not the kind(s) of preparation?

I. Personal Preparation
II. Technical Preparation

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. " Neither I nor IT

Question Number : 170 Question Id : 2752283785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3FTAT 3R TS S & §Te, R Tl Tgam &) dadt axar 8 | FefifEd & § o 918 3R a1/ TR T /87

1. AGRT JaR_Y
VAGERICARIR

Options :

1. % $Had I

2. % Had II
3. % [quT I aHl



4.« ABIATBII

Question Number : 171 Question Id : 2752283786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A particular match incident gives you the maturity to execute yourself as a tough player.” This given statement describes which of the following
importance of physical education?

Options :

1. % Economic Value

2. % Emotional Development
3. % Intellectual Development
4. % Physical Fitness

Question Number : 171 Question Id : 2752283786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh H 1 AT U STeh! T Dig Rdirs! o =0 H Ga P! MTfad B & fg uRuebar &l ¢ ' Is ar 7 sy IRk e &
frafaRad o 9 fod ded &1 90 Fal g2

Options :

1. % e g

2. ¢ YIgATHD fdbr

3. % Qg e

4. % IRINS ey

Question Number : 172 Question Id : 2752283787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In books like ‘Mahabharata’ and ‘Ramayana’ which of the following sport(s) are described?

I. Wrestling
II. Archery

Options :
1. * Only I
2. % Only II



3. % BothIand II
4. # Neither I nor II

Question Number : 172 Question Id : 2752283787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETYRGA SR 0T SRf Geaeh| # Fofafad & & & 3 Wa/ad! &1 quiH fhar 11 5/8?

I At
I1. dRarsht

Options :

1. % Had

2. % Had Il

3. ¢ 13U gAY
4. % QAT

Question Number : 173 Question Id : 2752283788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1914, Vyayam Prasarak Mandal was set up in
Options :

1. % Amaravati

2. % Surat

3. % Gujarat

4. % Masulipatnam

Question Number : 173 Question Id : 2752283788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1914 ¥, S TR Hed H RI1IU foam T |
Options :

1. ¢ ERTaAt
2. % Q@d




3. % TGRId
4. % AgAIYSTH

Question Number : 174 Question Id : 2752283789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination(s) is/are not correct?

I. Yog of knowledge — Jnana Yog
II. Yog of devotion — Karma Yog

Options :

1. # OnlyI

2.9 Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 174 Question Id : 2752283789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 a1/ daieH 9g! 781 8/8?

L. 9 &1 AT — I I
1. HiFd BT ART — HH INT

Options :

1. % 5Had I

2. ¥ Had Il

3. % 13U gAY
4. % qEIIATRI

Question Number : 175 Question Id : 2752283790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?



I. Physical education should meet the biological needs of children and youth for vigorous activities, adequate time and instruction in skills
II. Physical education in the selection of activities should recognize that man is prepared by nature to engage in certain kinds of activity

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. % Neither I nor II

Question Number : 175 Question Id : 2752283790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferiad 7 @ o 91/ $Y7 I8! 781 8/8?
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Options :

1. % Had 1

2. % Had Il

3. % [ YT Gl

4. /A IAE

Question Number : 176 Question Id : 2752283791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Physical education should recognize the principle of readiness of the individual to engage in certain kinds of movements
II. Physical education in methods and materials of instruction should reflect modern psychology

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II



Question Number : 176 Question Id : 2752283791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % phad |

2. % Had I

3. ¢ 1 qUT I AT

4. % AIAIATEI

Question Number : 177 Question Id : 2752283792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Linear motion can happen in two ways. Which of the following is/are that/those way(s)?

I. Rectilinear Translation
II. Curvilinear Translation

Options :

1. % Only |

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 177 Question Id : 2752283792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % phad |
2. % Had I
3. ¢ 1 qUT I AT
4. % I IAIEI

Question Number : 178 Question Id : 2752283793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following procedural points should be covered through staff orientation in the school or college sport programme?

I. Financial

II. Health care

III. Travel

IV. Public relations

Options :

1. % I, Hand IV

2. % II, Il and IV
3. # Iand III

4. % 1,11, Il and IV

Question Number : 178 Question Id : 2752283793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % LIIdUTIV

2. % I I AT TV
3. % 1Ay

4. LIL I AU IV



Question Number : 179 Question Id : 2752283794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For effective evaluation, physical education teachers must perform which of the following task(s)?

I. Establish the process of evaluation and also its workable procedure
II. Formulate objectives of evaluation as precisely as possible with the utmost care, caution and clarity

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 179 Question Id : 2752283794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had I

3. ¢ 13U gAY
4. % qIIIATRII

Question Number : 180 Question Id : 2752283795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a phase in the triple jump?
Options :

1. * Hop

2. % Step



3. ¥ Fly
4. % Jump

Question Number : 180 Question Id : 2752283795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 9 & a1 fieud S &1 U TR0 e 82

Options :
1. % gig
2. % Y
3. v TS
4. % o
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Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 275228248
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752283796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the high jump, consecutive failures at the same height or combination of heights, cause a competitor’s elimination.
Options :

l.%2

2.¥3

3.%4

4. % 6

Question Number : 181 Question Id : 2752283796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 O H, AN HaT8 1 SHA15d! & JUSH IR TR fAerdrt, Tep Ufadiv & Se 1 SRl S 5 |
Options :

1. %2

2.¥3

3.% 4

4. % 6

Question Number : 182 Question Id : 2752283797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In gymnastics, the length of parallel bars is cm.
Options :

1. # 200

2. ¥ 350



3. % 250
4. % 300

Question Number : 182 Question Id : 2752283797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forTRe e #, IRTad S &1 TS .. gt g
Options :

1. % 200

2.9 350

3. % 250

4. % 300

Question Number : 183 Question Id : 2752283798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the FIBA rules, there are 4 quarters of  minutes each in a basketball match.
Options :

1. % 15

2.%10

3. %20

4. % 8

Question Number : 183 Question Id : 2752283798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 5. o1 T & (ol & S9R, SRbeald 7 § Udd e & 4 BIERX B &
Options :

1. % 15

2.%10

3.% 20

4. % 8



Question Number : 184 Question Id : 2752283799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During a netball match, a minimum of  and maximum of players from a team may be on the court at any one time.
Options :

1.¥5;,7

2.% 6,8

3.% 5;8

4. % 6,7

Question Number : 184 Question Id : 2752283799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eaid & U Hd & GRM, T S I gAdd 3R 3ifrpaH e it +ff g &I 7 81 9o B
Options :

1.¥5;7

2. % 6;8

3. % 5;8

4. % 6;7

Question Number : 185 Question Id : 2752283800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the hammer throw, the put must land inside a designated degree sector for it to be a valid put.
Options :

1. % 45

2.9 35

3. % 40

4. % 50

Question Number : 185 Question Id : 2752283800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 45

2.¥ 35

3. % 40

4. % 50

Question Number : 186 Question Id : 2752283801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many hurdles are there in a 400-metre hurdle race?
Options :

1.+ 10

2.%9

3.% 11

4. % 8

Question Number : 186 Question Id : 2752283801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
400 HieX ged o H fhadd gsa gld 82
Options :

1.+ 10

2.%9

3. % 11

4. % 8

Question Number : 187 Question Id : 2752283802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many water jumps are there in a 3000 metres steeplechase?
Options :

l.*5



2.% 6
3.7
4. % 8

Question Number : 187 Question Id : 2752283802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3000 Hiex Wiuerdsl § fasdt Urt &1 S gl 62
Options :

1. %5

2.% 6

3.7

4. % 8

Question Number : 188 Question Id : 2752283803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a doubles game of squash each game is played to points.
Options :

1. ¥ 11

2. % 12

3.9

4. % 15

Question Number : 188 Question Id : 2752283803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W1 D YIS Wl H YA T 3ich b Wl STl g |
Options :

1. 11

2. % 12

3.%9

4. % 15



Question Number : 189 Question Id : 2752283804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a doubles table tennis match, at each change of service

Options :

1. % the previous receiver shall become the server and the previous server shall become the receiver

2. % the partner of previous receiver shall become the server and the partner of the previous server shall become the receiver
3. ¥ the previous receiver shall become the server and the partner of the previous server shall become the receiver

4. % the partner of previous receiver shall become the server and the previous server shall become the receiver

Question Number : 189 Question Id : 2752283804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T MY AT H, Id H UdF uRadT W |

Options :

1. % fUzar Rdftar gdR o9 SmeT SR s Tk Refer s Smeem

2. % fUzd RfiaR &1 YrfieR IdR 99 e ok fiee TaR &1 yrfieR fftar o= smem
3. ¢ faen RfiaR TR &9 Sem iR s d TR &1 iR Refter &9 Smeem

4. % fUzd RfaR &1 YrfieR IdR 99 Se SR s Tk Refter &9 Saem

Question Number : 190 Question Id : 2752283805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tennis can be played to the best of or sets.
Options :

1. % 1;3

2. % 3.7

3.3;5

4, % 5,7

Question Number : 190 Question Id : 2752283805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Y BT o ST il el % Wl o 9hdl 5 |
Options :

1. % 1,3

2. % 3,7

3.°3;5

4, % 5,7

Question Number : 191 Question Id : 2752283806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An input system of a computer performs which of the following functions?

I. It accepts instructions and data from outside world
II. It converts data in computer acceptable form

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 191 Question Id : 2752283806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dhad |

2. % Had I

3. 13U g
4. % qEIIATRI



Question Number : 192 Question Id : 2752283807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shortcut is used to cut the selected text in MS Word?
Options :

1. ¢ Ctrl+X

2. % Ctrl+C

3. % Shift+X

4. % Shift+C

Question Number : 192 Question Id : 2752283807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH. 79, I8 H AdaS SRS DI die & A Fafead & 4 o 3 Qe &1 IudnT ol §ird 82
Options :

1. % Ctrl+X

2. % Ctrl+C

3. #* Shift+X

4. % Shift+C

Question Number : 193 Question Id : 2752283808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a shortcut to centre align the selected text in MS Word?
Options :

1. % Shit+P

2. % Ctrl+P

3. % Shift+E

4. % Ctrl+E

Question Number : 193 Question Id : 2752283808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Shit+P

2. ® Ctrl+P

3. # Shift+tE

4. % Ctrl+E

Question Number : 194 Question Id : 2752283809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a valid extension of a MS Powerpoint filename?

L. pptx
IL. pptm

Options :

1. % Only I

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 194 Question Id : 2752283809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafed § 9 oF 91 U TH. T, UlaRUISe BIsd ATH &I 9y TaIe T 82

L. pptx
IL. pptm

Options :

1. % $Had
2. % Had II
3. ¢ 1 qUT I &Y
4. % qEIIATR

Question Number : 195 Question Id : 2752283810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a function of memory management?

I. Gives memory to each application and device as needed
II. Protects applications and their data from each other

Options :

1. # OnlyI

2. % Only I

3. ¥ Both I and II
4. % Neither I nor IT

Question Number : 195 Question Id : 2752283810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. MAWHATIR YA TR 3R f3argd &) ARt a1 g
1. TP 3R I el bl Teb gax I JRIad 3@l &

Options :

1. % BHad |

2. % Had I

3. ¢ 13U gAY
4. % qEIIATRII

Question Number : 196 Question Id : 2752283811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a gesture that can be made by referee in Judo?

I. Ippon
II. Waza-ari

Options :
1. * Only I
2. % Only II



3. % BothIand II
4. % Neither I nor II

Question Number : 196 Question Id : 2752283811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad |

2. % Had I

3. ¢ 1 qUT 1L T
4. % A IAIEI

Question Number : 197 Question Id : 2752283812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the maximum number of substitutions that can be made during a kabaddi match?
Options :

1. %2

2.%3

3.% 4

4.5

Question Number : 197 Question Id : 2752283812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Hag! 7 & GRM Hfwan fhdm qafeegy iy o uwd 82
Options :

1. %2

2.%3



3.% 4
4.5

Question Number : 198 Question Id : 2752283813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of mallakhamb?

I. Pole mallakhamb
II. Rope mallakhamb

Options :

1. # OnlyI

2. % Only I

3. % Both I and II
4. % Neither I nor IT

Question Number : 198 Question Id : 2752283813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FoRifEd & § 31 91 Teead &1 T UHR 82

1. Uid Aeerad
I1. T Aeeradt

Options :

1. % Bhad |

2. % Had I

3. ¢ 13U gAY
4. % qREIIATRI

Question Number : 199 Question Id : 2752283814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Epee fencing the target area is
Options :



1. ¥ Head and arms
2. % Entire body

3. % Only head

4. % Only torso

Question Number : 199 Question Id : 2752283814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR AdEEaT g
Options :

1. % RR 3R Yoy

2. RTTRR

3. % BHad RR

4. % Had U3

Question Number : 200 Question Id : 2752283815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct about the duration of a handball match?
Options :

1. % 2 halves of 20 minutes each

2. % 4 quarters of 15 minutes each

3. # 4 quarters of 10 minutes each

4. % 2 halves of 30 minutes each

Question Number : 200 Question Id : 2752283815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FodId Ha B 3fafy & T # FufRad & 4 o a1 98l 82
Options :

1. % Ueh 20 IS & 2 HRT

2. % YA 15 AT & 4 BIR



3. % YA 10 fHAC & 4 HIR
4. ¢ TA® 30 THAC & 2 HAT



